


F01

CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
FO1 - INSURANCE, LEGAL AND REGULATORY
YEAR 2022 APRIL DIET

All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
FOUNDATION
FO1 - INSURANCE, LEGAL AND REGULATORY

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A
The questions 1 - 60 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.
Example:
A comprehensive motor insurance policy would provide cover for:

(@)  Accidental damage to the vehicle

(b)  Wear and tear and depreciation

() Mechanical and electrical failure or breakdown

(d)  Damage to tyres caused by road punctures or burst
The correct option is (a).

Section B

Questions 61 - 85 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.
Example:

A comprehensive motor insurance policy would provide cover for all types of
accidental damages without any exclusion (True or False).

The correct option is False (F).

Section C

Questions 86 - 100. This section contains four (4) case studies each followed by
some questions. The case studies are not numbered and appear at the top of the
page. Each of the questions following a case study is numbered. Four options
follow each question. The options are labelled, a, b, ¢, d. Only one of these options
is correct or best. Select your answer for each question and indicate it on the
answer from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 60)

. The basic concept of insurance that the losses of the few who suffer misfortune are
met by the contributions of the many who are exposed to similar potential loss is
referring to which of the following?

(@)  Pooling of Risks (b)  Pulling of Risks

() Padding of Risks (d)  Pushing of Risks

. Two common ways of sharing risk with others are one of the following
alternatives.

(@)  Co-insurance and Multiple Insurance

(b) Contribution and Multiple Insurance

() Co-insurance and Reinsurance (d)  All of the above

. The term where an individual or firm has decided not to use insurance as the risk

transfer mechanism but to carry the risk themselves by means of funding is called

(@)  Private insurance (b)  Self insurance
(c)  Individual insurance (d)  Corporate insurance

. When cover is on intangibles such as income, revenue or value, the class of cover
is ...

(@)  Fire insurance (b)  Cash insurance

(c)  Pecuniary insurance (d)  Prototype insurance

. What is the name given to the insurance for individuals, families and business to
enable them to meet the cost of seeking legal advice or pursuing/defending civil
actions?

(@  Lawyer Expenses Insurance

(b)  Business Expenses Insurance

(c)  Legal Expenses Insurance

(d)  Commercial Expenses Insurance

. The cover in respect of actual loss of earnings of the business adjusted for business
trends plus the increased costs associated with the business recovery is known as

(@  Legal insurance (b)  Fidelity insurance
(c)  Credit insurance (d)  Business interruption insurance

. The principal types of motor insurance in Nigeria are all but one of the following.

(@)  Private Motor Insurance (b)  Motorcycle Insurance
() Comprehensive Insurance (d)  Commercial Motor Insurance
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8.

9.

10.

11

12.

13.

14.

15.

16.

Insurance to compensate the insured in respect of claims from third parties for
accidental bodily injury or damage to their property due to the insured’s
negligence or that of his employees is known as ...

(@)  Public liability insurance (b)  Compensation liability insurance
(c)  Bodily injury insurance (d)  Accidental damage insurance

You are approached to suggest an insurance cover that protects a person acting in
his professional capacity against claims that may be made for loss or injury arising
from his negligent actions or advice. Which policy would you recommend?

(@)  Professional Masters Insurance (b)  Directors’ Professional Cover

(c)  Professional Indemnity (d)  None of the Above

When the cover is needed for individuals who seek medical treatment outside the
National Health Service or Health Management Organization when they are ill,
the best cover is ...

(@)  Personal Accident Insurance (b)  Medical Accident Insurance

() Private Medical Insurance (d)  Sickness Medical Insurance

. Household buildings and contents insurance will be high on the list of ...

(@)  Partnerships (b)  Private Individuals
() Companies (d)  Association

Any company wishing to transact insurance business in Nigeria must be
authorized to do so by ...
(@) NIA (b)  NCRIB (o CIIN (d) NAICOM

There are a number of categories of ownership in the insurance global market and
one of the following is not one of them.

(@)  Captive Insurance (b)  Proprietary Insurance

(c)  Property Insurance (d)  Mutual Insurance

An insurance company that works on the principle that in any transaction, risk
and profit should be shared between the participants is known as ...

(@)  Captive insurance company (b)  Takaful Insurance company

() Gharar insurance company (d)  Mutual indemnity company

What does Gharar, in Takaful Insurance, mean?
(@)  Certainty (b) Riba (c) Gambling (d) Interest

A broker is expected to act professionally in the following areas while providing
service to his clients.

(@)  Decide the best market in which to place the risk

(b)  Advise the Client () A only (d A&Bonly
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17. There are ... components of marketing mix.

@ 1 (b) 2 © 3 (d) 4

18. In the alternatives below, one is a drawback of direct marketing channel.
(@)  Reduced cost
(b)  Only one company’s product is available
() Quick and easier purchase
(d)  Passing of advertising and promotional cost to the customer

19. Bancassurance offers the following advantages for banks and insurance except ...
(@)  Access each party’s scale efficiencies
(b)  Lower risk to the business
(c)  Increased risk to the business
(d)  Opportunity for joint product development.

20. The reinsurer to a reinsurer is known as the
(@) Cedant (b)  Reinsurancer () Retrocessionnaire
(d)  Insurer.

21. The role of claims personnel in an insurance company is to ...
(@)  Deal quickly and fairly with all claims submitted
(b)  Settle claims with the maximum of wastage
() Collect premium on his company’s behalf (d) A & Bare correct

22. Before their employment by other classes of insurance. Actuaries were for many
years associated with ...
(@)  Marine insurance (b)  Life insurance
() Fire insurance (d)  Liability insurance

23. The compliance officer of XYZ Insurance company performs all but one of the
following functions.
(@ Communicating the company’s policy to members of staff
(b)  Reviewing all stages of business process to ensure compliance
() Maintaining the company’s compliance manual
(d)  Making adequate provision at laundering the company’s money

24. NIA is the association of registered insurance companies in Nigeria. What is the
full meaning of NIA?
(@)  Nigeria Insurance Association  (b)  Nigerian Insurance Alliance
(c)  Nigerian Insurers Association  (d)  All of the above

25. ... is the first professional body in Nigeria.
(@@ CIIN (b)  The ACIB (c0 ILAN (d) PRAN
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26. The full meaning of RIMSON is ...
(@)  Risk Insurance Managers Society of Nigeria
(b)  Risk Managers Society of Nigeria
(c)  Risk Institute and Management Society of Nigeria
(d)  None of the above

27. One of these is not a member of PRAN as at 31/01/2021.
(@)  African Reinsurance Corporation
(b)  Continental Reinsurance PLC
(c)  Nigerian Reinsurance Corporation Plc  (d) = Globe Reinsurance Plc

28. A contract which is missing of any of its essentials is ...

(@)  Valid (b)  Void ab-initio
(c)  Void at the date of the breach (d)  None of the above
29. Consideration is one of the essentials of a valid contract. The decided case
establishing it is ...
(@)  Currie v. Misa (b)  Curry v. Musa
(c)  Cowry v. Misa (d)  Clint v. Maslow

30. A person who is entrusted with someone else’s goods and it becomes necessary
for that person to act in certain way in order to preserve the property in an
emergency is called an agent by ...

(@)  Consent (b)  Necessity
(c)  Ramification (d)  Ratification

31. Where an agent acts without authority but the principal accepts the act as having
been done by the agent on his behalf; the agency is by ...
(@  Consent (b)  Necessity
(c)  Ramification (d)  Ratification

32. The following feature is alien to the principle of insurable interest.

(@)  Subject Matter (b)  Object Matter
() Legal Relationship (d)  Financial Value
33. The event or item insured in insurance is referred to as the subject matter of the ...
(@)  The contract (b)  The property insured
(c)  Insurance (d)  Subject matter of subject

34. Insurable interest in the subject matter of an insurance policy may arise in a
number of ways but one of the following alternatives is not one of them.
(@) Common law (b)  Contract
() Statute (d)  None of the above
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35. Someone who holds a property on a temporary basis on behalf of the legal owner
is called a ...

(@)  Balee (b) Bailey (c)  Bailee (d)  Bayley

36. The following Statutes except one made elaborate provisions on insurable interest.
(@)  Marine Insurance Act 1961 (b)  Life Assurance Act 1774
(c)  Insurable interest Act 1845 (d)  Gaming Act 1845

37. An example of moral hazard is all but one of the following.
(@)  Refusal to insure by other insurers
(b)  Previous claims history if fraud or exaggeration is detected
(c)  Criminal conviction (d)  Nature of stock

38. The burden has been made light on prospects who cannot be held responsible for
not disclosing any information not asked for in the proposal form. This position is
contained in the ...

(@)  Marine Insurance Act 1906 (b)  Insurance Act 2003
(c)  Consolidated Insurance Bill 2020 (d)  None of the above
39. The classical definition in the case of Pawsey v. Scottish Union and National
defines ...
(@)  Insurance (b)  Reinsurance
() Proximate cause (d) Indemnity

40. Lord Shaw in the case of Leyland Shipping v. Norwich Fire Insurance Society
(1918) held that causation is not a chain but a ...

(@) Wire (b)  Rope (0 Net (d) Allof the above
41. What is the name given to those perils named in the policy specifically not

covered?

(@) Exempted/Excepted perils (b)  Excluded perils

(c)  All of the above (d)  None of the above

42. Where a loss is caused by an excepted peril, the loss is not covered where ...
(@) Insured peril is the excepted cause
(b) Excepted peril is the proximate cause
(c) Uninsured peril is the proximate cost (d)  All of the above

43. Fire in a neighbour’s house spreads to a boundary wall and the following day a
storm occurs and the wind blows down the wall. What is the proximate cause of
the loss?

(a) Fire (b)  Spread ()  Rain (d)  Storm
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44. Indemnity is financial compensation sufficient to place the insured in the ...
financial position after a loss as he enjoyed immediately before the loss occurred.
(@)  Nearest financial position (b)  Same financial position
(c)  Reasonable financial position (d)  Comfortable financial position

45. The use of nominated retailers by insurers brings them several benefits excluding
one of these.
(@)  Discounts received mean lower claims costs
(b)  Using the replacement option can prevent or minimize fraudulent claims
(c)  Retailers can have the opportunity of issuing insurance policies
(d)  Customer service is improved by the use of quality retailers

46. In property insurance, in the case of partial damage of equipment, indemnity is
one of the alternatives below.
(@)  The repair cost less wear and tear
(b)  Replacement cost less wear and tear
() Reinstatement cost less wear and tear (d)  None of the above

47. When an allowance is made for any improvements that may result from the repair
or reconstruction, it is called ...

(@ Improvement (b)  Betterment

() Embellishment (d)  None of the above
48. What is the cover which usually applies to household contents?

(@@  New for old (b)  Firstloss

(c)  Agreed value (d)  All of the above
49. The formula sum insured x loss is deployed to one of the following.

value
(@@ Excess (b) Franchise (c) Average (d)  Insured value

50. Another name for 75% average is one of the following.
(@)  Stock condition of average
(b)  Excess condition of average
() Special condition of average
(d)  Two conditions of average
51. The Pension Reform Act 2004 which was later reviewed reduced the number of
employees covered under Employees’ group life Insurance to ...
(@) More than five (b)  Three
()  More than three (d)  Three and a half
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52. The compulsory aspect of motor insurance is ...
(@@  Comprehensive cover (b)  Third party liability cover
(c)  Commercial cover (d)  Private cover.

53. Two possible ways of determining the rateable proportion of a claim are one of
the following alternatives.
(@)  Suminsured and independent liability
(b)  Sum insured and dependent liability
(c)  Independent liability and market value (d A&Bonly

54. Subrogation right does not arise from ...
(@ Tort (b)  Statute (c) Public opinion (d)  Contract

55. The aspect of marine Insurance made compulsory by the Insurance Act 2003 is ...
(@  Exportation (b)  Importation
() Hull (d)  All of the above

56. Marine Insurance Act 1906 applies to all but one of the following.
(@ Ship (b) Cargo (0 A&Bonly (d) None of the above

57. Choose the Statute which sets out to protect insurance proceeds from the effects of
insolvency.
(@@  Motor Insurance Third Party Act
(b)  Third Parties (Right Against Insurers) Act 2010
(c)  Consolidated Insurance Bill 2020 (d)  None of the above

58. What is the name given to the process in money laudering where the criminal get
access to the money?
(@@ Placement (b) Layering (c) Integration (d)  Differentiation

59. One of the following negates the standard of behavior which all members must
follow in the course of their professional duties as set down in the code of
conduct.

(@)  Applying objectivity in making professional judgments and in giving
opinion and statements

(b)  Respecting the confidentiality of information acquired in professional and
business relationships

(c)  Upholding professional standards in all dealings and relationships

(d)  Upholding professional standards in certain dealings and relationships
which best suit them
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

Giving consideration to the key areas of training and competence, one of the
following alternatives does not fit in.

(@)  Assessing competence (b)  Record keeping

(¢)  Recruitment (d)  Maintaining competence

SECTION B - ATTEMPT ALL QUESTIONS (Questions from 61 to 85)
Answer True (T) or False (F).

Assessment of risk is usually in terms of low frequency and high severity.

The primary function of insurance is risk transfer.

In pooling of risks, contributions or premiums must be large enough to cover the
costs of operating the pool but not necessarily provide an element of profit to the

insurer.

Risk transfer is a mechanism whereby an individual or firm transfers a risk to his
account.

Unexplained disappearance is a standard exclusion of cover under livestock
insurance.

Business interruption insures against losses due to an interruption in business
occurring immediately before and in consequence of material damage to

property.

In view of the fact that public liability insurance covers insured’s liability against
third party damages or losses, it is made compulsory by law.

Sickness insurance provides cover in the event of accidental death or bodily
injury.

Insurers may be distinguished from one another in terms of ownership and
function.

The choice of distribution determines the type of advertising used.
Reinsurers are often Incorporated Trustee companies.

An efficient claims department staffed with competent claims personnel is vital
to ensure proper management of an insurance company’s investment.
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

Unlike external Auditors, internal Auditors look beyond financial risks and
statements to consider reputational issues of the organization.

A contract may be declared invalid or set aside if it is missing any of the essentials.
Under Agency law, an agent is one who is authorised by a principal.
A mere tenant does not have insurable interest in a rented property.

The courts test whether a fact is material by looking at it from a prudent insurer’s
point of view.

Reinstatement means that the insurer agrees to restore an aircraft that has been
damaged by an uninsured peril.

In agreed value policies the value of the subject matter of the insurance is agreed
at the start of the contract and the sum insured is fixed accordingly.

The maximum amount that can be recovered under a property insurance policy
is limited to the sum insured.

Deductible is often linked to a risk management process.
The rateable proportion is calculated using the formula:

Policy sum insured x loss
Total sum insured (all policies)

By exercising his subrogation rights in keeping with the principle of indemnity,
the insurer is only entitled to recover more than they have paid out being the
insurer.

In general terms, there are three strands to the legal rules that apply to money
laundering.

Elimination, though the most effective form of risk control, is relatively cheap
and practicable.

Page 12 of 122



SECTION C - ATTEMPT ALL QUESTIONS (Questions 86 - 100)
Read the cases below carefully and answer the questions which follow.

Insurance is a contract upon speculation. The special fact upon which the contingent
chance is to be computed lie most commonly in the knowledge of the insured only...
86. Who said the above words?

(@) Lord Wilberforce

(b) His Lordship, Justice Ayotunde Phillips

(c) Lord Blackburn (d)  Lord Mansfield

87.  Who were the parties in the celebrated case?
(@) Crater and Boehm
(b) Macaura and Northern Assurance Company
(c) Carter and Boehm (d)  Catar and Bowen

88. What is the principle of insurance being tested?

(@) Indemnity (b)  Utmost Good Faith
(c) Agency (d)  Contribution
89. The case espoused a particular duty. Choose the duty.
(@) Premium payment (b)  Secrecy
(c) Utmost good faith (d)  Disclosure

90. For the duty mentioned in the immediate above question to be effective, it must

be ...
(@) positive (b)  negative
(c) prospective (d)  perfect

On 18t June 2021, there was collision between a trailer and a petrol tanker which
caused a leakage of the tank spilling petrol which flowed into OPIC plaza beside
Sheraton Hotel. Some people sat along the road doing nothing as the petrol flowed
pass them. In few seconds, it got to the kitchen area which was about 80meters from
the scene of accident and there was a loud explosion due to fire from the gas cylinder
killing the cook instantly and the fire spread to the back side of Sheraton where some
fabrics were being dried which got burnt.

91. What is the principle of insurance traceable to the scenario?
(@) Proximate Cause (b)  Remote Cause
(c) Indemnity (d)  Contribution

92. What is the cause of the explosion?

(@) The gas cylinder (b)  The fire
(c) The collision (d)  The careless people who did nothing
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93. What is the cause of the burnt fabric?
(@) The gas cylinder (b)  The fire
(c) The collision (d)  The explosion

94. What is the cause of the cook’s death?
(@) The gas cylinder (b)  The explosion
(c) The collision
(d) The careless people who did nothing

95. What is the cause of the leakage?
(@) The collision (b)  Overspeeding
(c) Tiredness (d)  All of the above

A van driver supplying bottled water rammed into a parked Nissan Pathfinder
belonging to Balanta, damaging it considerably. He apologized and got his insurer
involved. Meanwhile Balanta approached his insurer who paid him &250,000.00 for
its repairs. A week later, the driver came to give him &200,000.00 to effect repairs with
a letter of apology from the water factory.

96. What is the principle in the scenario?
(@) Subrogation (b)  Indemnity
(c) Contribution (d)  Insurable interest

97. State the leading case which establishes the principle above.
(@) North British and Mercantile v. Liverpool and London and Globe (1877)
(b) South British and Mercantile v. Liverpool and London and Globe (1877)
(c) Castellain v. Preston (1883)
(d) Carter v. Boehn (1766)

98. How will Balanta treat the 8200,000.00 paid him by the water company?
(@) He will replace the tyres with the money
(b) He will return it to his insurer
(c) He will share it with the driver for his honesty
(d) He will invest it.

99. How does the principle in the case study not arise?
(@) From tort (b)  From Statute
(c) From contract (d)  From court order

100. The principle in the case study is also known as a corollary of ...

(@) subrogation (b)  indemnity
(c) contribution (d)  insurable interest
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Chief Examiner’s Comment

The percentage of candidates with pass is above average at 54.47% representing
137 candidates out of the 247 who sat for the multiple-choice question-based
examination. It is either you know answer or not. This is considered a fair
performance.

If a candidate could score 91% with 11.34% of the candidates, representing 28
candidates, also scoring 80% and above, it means obtaining a pass is quite
achievable.

Comments on Overall Performance

Compared to the previous diet result, the performance is a remarkable
leap at 55.47%. However, the questions ordinarily called for an average
performance of about 65%.

Suggestion(s) on Improvement (if any)

Being a multiple-choice set of questions, candidates are enjoined to study harder
using past questions and also engage in group study.
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All answers should be shaded on the answer form in accordance with
the following instructions:
e Two hours are allowed for this paper.

e Fill in the information requested on the answer form and
attendance form.

e Handle the answer form with care and do not write notes on it.

e No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

e The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

e Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

e Ensure that you write the full and correct candidate’s number.

e If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

e No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN
THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION

F02 - GENERAL INSURANCE BUSINESS

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A
The questions 1 - 60 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.
Example:
A comprehensive motor insurance policy would provide cover for:

(@)  Accidental damage to the vehicle

(b)  Wear and tear and depreciation

() Mechanical and electrical failure or breakdown

(d)  Damage to tyres caused by road punctures or
The correct option is (a).

Section B

Questions 61 - 85 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.
Example:

A comprehensive motor insurance policy would provide cover for all types of
accidental damages without any exclusion (True or False).

The correct option is False (F).

Section C

Questions 86 - 100. This section contains three (3) case studies each followed by
five questions. The case studies are not numbered and appear at the top of the
page. Each of the five questions following a case study is numbered. Four options
follow each question. The options are labelled, a, b, ¢, d. Only one of these options
is correct or best. Select your answer for each question and indicate it on the
answer from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 60)

1.

Which of these levels of cover in motor insurance will give the lowest
cover to the insured?

(@  Third party only (b)  Third party, fire and theft
() Comprehensive (d)  None of the above.

Own damage risk is covered by ...
(@)  Third party only (b)  Third party, fire and theft
(c)  Comprehensive (d)  None of the above.

Which of the following is not part of the main class in motor insurance?
(@)  Private cars (b)  Goods in transit
() Motorcycles (d)  Commercial vehicles

Which of these is a compulsory level of cover in motor insurance?
(@  Third party only (b)  Third party, fire and theft
(c)  Private cars (d)  Comprehensive

No Claim Discount is applicable to ...
(@)  employers’ liability insurance (b)  marine insurance
(c)  fire insurance (d)  motor insurance

Which of these is NOT a contract of indemnity?
(@)  Marine insurance (b)  Personal Accident Insurance

() Theft insurance (d)  Fire insurance

The Standard Fire insurance Policy will NOT cover ...

(@)  Fire (b)  Storm

(c)  Lightning (d)  Explosion
Which of these is an example of social perils?

(@) Riot (b)  Storm

() Subsidence (d)  Impact
An example of Perils of Nature is ...

(@)  Escape of water (b)  Riot

(c)  Earthquake (d)  Heating
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10.

11.

12.

13.

14.

15.

16.

17.

18.

“A person is guilty of theft if they dishonestly appropriate property
belonging to another with the intention of permanently depriving the
other of it”. This definition is applicable to ...

(@  Robbery (b)  Burglary

(c)  Theft (d)  Stealing

Authorised repairers will be used in ...
(@)  money insurance (b) Fidelity guarantee insurance
(c)  Business interruption insurance (d)  Household insurance

The factor that influences either the frequency or severity of loss is called

(@) Risk (b)  Hazard
() Peril (d)  Uncertainty

The document used by an insurer to collect information about a proposed
risk is ...

(@)  Anendorsement (b) A policy

(c) A proposal form (d)  Arenewal notice

The evidence of an insurance contract is ...
(@)  Anendorsement (b)  apolicy
() a proposal form (d)  arenewal notice

Declaration is commonly found in which of the following document?
(@  Anendorsement (b) A policy
(c) A proposal form (d)  Arenewal notice

Indemnity period is commonly found in ...
(@)  Motor insurance (b) Business Interruption Insurance
() Money insurance (d)  Theft insurance

Which of the following liability policies cover third party liability risk?
(@  Employers’ Liability Insurance (b)  Public Liability Insurance
() Product Liability Insurance (d) Professional Indemnity Insurance

A doctor will buy which of these policies to cover his mistakes to his
patients?

(@  Employers’ Liability Insurance (b)  Public Liability Insurance
() Product Liability Insurance (d) Professional Indemnity Insurance
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19.

20.

21.

22.

23.

24,

25.

26.

27.

Which of these liability policies will pay benefits to an injured worker who
suffered injury in the course of his official assignment?

(@  Employers’ Liability Insurance (b)  Public Liability Insurance
(c)  Product Liability Insurance

(d)  Professional Indemnity Insurance

... is the term for premium base.

(@) Rate (b)  Sum insured
() Mille (d)  Percentage
Rate per mille means rate per ...

(@ 10 (b) 100

(c) 1,000 (d) 1,000,000

In relation to customer service, the General Data Protection Regulation
(GDPR) sets out that data must be obtained fairly if it is to be processed
fairly. The objective will include all, except as the right to ...

(@)  Beinformed (b)  Rectification

(c)  Erasure (d)  Be paid premium

Which of these will consider a complaint for the insured?

(@) FOS (b)y FCA

(cp ClII (d)  BIBA

The trade association of insurance brokers in Nigeria is ...

(@) NIA b) ILAN

() PILA (d) NCRIB

The regulator of insurance business in Nigeria is ...

(@) NAICOM (b) PENCOM

(0 NIA (d) CBN

Which of these is not covered by an insurance cyber product?
(@  Defamation (b)  Credit card
(c)  Cyber bullying (d)  Loss of insured data

Which of these is used by consumers carrying out online research before
they buy insurance?

(@)  Internet of Things (b)  Telematics

() Aggregators (d)  None of the above
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28.

29.

30.

31.

32.

33.

34.

35.

36.

... can be defined as “a collection of online media tools and channels that
foster communication and conversation, not only delivering content but
also allowing interaction and participation in the development of the
content being discussed”.

(@)  Social media (b)  E-commerce

(c)  Internet of Things (d)  Telematics

The right of insurer having paid a claim to recover the claim amount from
the third party that caused the loss is ...

(@  Contribution (b)  Right of recovery

(c)  Subrogation (d) Indemnity.

When two insurers cover the same subject matter of insurance, claim from
such cover is based on the principle of ...

(@  Contribution (b)  Right of recovery
() Subrogation (d) Indemnity.

When the insurer pays for total loss of an item under a property or motor
insurance, it is entitled to receive the benefit of the ...

(@) Indemnity (b)  Claim.

(c)  Liability (d)  Salvage

Which of these is NOT a claims settlement method?

(@)  Salvage (b)  Reinstatement

(c)  Repair (d)  Payment to third parties

An action open to insurers in the case of extensive damage or complete
destruction is ...

(@) salvage (b)  reinstatement

(c)  repair (d)  payment to third parties

The penalty for under-insurance is ...
(@)  Contribution (b)  Average
() Subrogation (d)  Arbitration

Which of these has to do with disputes between parties of an insurance
contract?

(@)  Contribution (b)  Average

(c)  Subrogation (d)  Arbitration

Engineer’s report is a supporting evidence required in ...
(@)  Anaccident claims (b)  Theft claims

(c) A personal Injury claims (d)  Motor claims
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37.

38.

39.

40.

41.

42.

43.

44.

45.

Which of these claims that will require a doctor’s certificate as supporting
evidence?

(@)  Accident claims (b)  Theft claims

(c)  Personal Injury claims (d)  Motor claims

... is an expert in processing claims from start to finish.
(@)  Risksurveyors (b)  Loss adjuster
(c)  Underwriter (d)  Broker

Which of these is not found in Motor Accident Report form?
(@)  Details of insured

(b)  Date and time of the accident

(c)  Particulars of any independent witnesses to the accident

(d)  Situation and occupancy of the premises

The document used by the insured to advise the insurer of a loss is ...
(@)  Loss adjuster’s report (b)  Proposal form

(c)  Claim form (d)  Risk surveyor’s report

... is a stipulation made in the policy that certain things are so, and remain
so, or the certain thing will or will not be done.

(@  Warranty (b)  Representation

() Disclosures (d)  Excess

What is the term for the amount which the insured will bear for each and
every loss?

(@@  Warranty (b)  Representation

() Disclosures (d)  Excess

Implied warranties are only found in which class of insurance?
(@)  Motor insurance (b)  Marine insurance
() Money insurance (d)  Miscellaneous insurance

... is a fixed amount or period that acts as a threshold to determine shelter
claims are payable.

(@)  Excess (b)  Warranties

(c)  Limits (d)  Franchise

The insured’s name is found in which part of the policy document?
(@ Heading (b)  Operative clause
() Policy schedule (d)  Attestation
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46.

47.

48.

49.

50.

51.

52.

53.

54.

The parts of a policy document that shows what is NOT covered in the
policy is ...

(@)  The recital clause (b)  The operative clause
(c)  The condition (d)  The exception

The parts of a policy that shows what is covered in the policy is the ...
(@ Heading (b)  Recital clause
() Operative clause (d)  Signature

The name of the insurer is found in which parts of the policy?
(@  The heading (b)  The recital clause

(c)  The operative clause (d)  The signature

Which of these is not part of market exclusions?

(@)  War risks and related perils (b)  Terrorism

() Theft policies (d)  Marine policies

The place where the policy is made personal and specific to the insured is
called the ...

(@) Heading (b)  Preamble

(c)  Recital clause (d)  Policy schedule

... is the movement of the land on which the premises stand due to
movements, falls or changes in underground workings, such as coal
mines.

(@)  Subsidence (b)  Earthquake

() Ground heave (d)  Landslip

... has been legally defined in Oddy V. Phoenix Assurance Company
Limited (1966) as “..... it is a rapid downward movement under the
influence of a mass rock or earth on a shop”.

(@)  Subsidence (b)  Earthquake

() Ground heave (d)  Landslip

Which of these is NOT a common extension in Theft Insurance that are
included automatically in the policy?

(@)  Breakage of glass (b)  Collusion

(c)  Replacement of locks (d)  Index linking
The money insurance will not cover ...

(@) Cash (b)  Recharge card
() Lottery ticket (d)  Postage stamp
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55.  Anexample of good physical hazard in fire insurance is ...

(@)  Building of wooden construction (b)  Thatched roof
(c)  Storage of dangerous chemicals
(d) Concrete fire-resistant walls

56. ... relates to the human aspects that may influence the outcome of the risk.
(@@  Good physical hazards (b)  Poor physical hazards
(c)  Physical hazards (d)  Moral hazards

57.  Transit risk be considered in which of these classes of insurance?
(@)  Public Liability Risk (b)  Product risks
(c)  Money risks (d)  Firerisks

58.  Adjustable premium is used in ...
(@)  Fire insurance (b)  Theft insurance

() Motor insurance
(d)  Employers’ Liability Insurance

59.  Cover note is used in ...
(@)  Theft insurance (b)  Motor insurance
(c)  Fire insurance (d)  Travel insurance
60.  Which of these is not contained in a Certificate of Insurance?

(@)  Address of the insured

(b)  Registration number of the vehicle.

() Expiry date

(d)  Date of commencement of cover

SECTION B - ATTEMPT ALL QUESTIONS (Questions from 61 to 85)

Answer True (T) or False (F).

61.  Insurers generally provide third party cover for caravans or trailers while
they are attached to insured vehicles.

62.  Death benefit is not covered in a personal accident and sickness policy.
63.  Personal Accident Insurance covers childbirth and pregnancy for female
lives.

64.  Theft insurance is a form of compulsory insurance.
65.  Personal Accident Insurance is not a contract of indemnity.
66.  No Claims Discount is commonly used in Motor Insurance.
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

Death benefit is covered in personal accident insurance.
Household Insurance is an example of package insurance.
A money insurance policy covers every risk.

An “All Risk Policy” covers every risk.

Fire insurance is a good example of an “All Risks Policy”.
Explosion is an example of perils of a chemical type.
Theft risk is not covered in insurance.

Excess is covered by an insurance policy.

Package policies are sold to small businesses who are faced with similar
risks.

Damage caused by an explosion is not fire damage. However, limited
explosion cover is provided within the standard fire policy.

Glass insurance is not restricted to plate glass, but extends to include
covers for practically all kinds of fixed glass.

Indemnity period is used in Fidelity Guarantee Insurance.

Insurers engage the services of loss adjuster as they are not independent
experts but serves to the benefits of the insurer who appointed them.

Material Damage Warranty is a clause in Business Interruption Insurance.

Business interruption insurance covers the actual or potential loss of
earnings and additional expenses incurred as a result of a material loss.

Employers’ Liability Insurance covers liability losses to consumers.

Directors and officers may be prosecuted for failures and civil remedies
may also be permitted against them.

Extended warranty insurance is provided to cover breach of warranties in
an insurance context.
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85.  Hazard is the event giving rise to the loss.

SECTION C - ATTEMPT ALL QUESTIONS (Questions 86 - 100)
Read the cases below carefully and answer the questions which follow.

Mr. John Okon has a personal accident insurance for a sum insured of
N500,000.00 in the event of death or permanent disability. It has a weekly benefit
of 810,000.00 per week subject to a franchise of six (6) days.

86.  What is the maximum weekly benefit payable by the policy?

(@) 10 weeks (b) 56 weeks
() 104 weeks (d) 208 weeks
87.  Inthe event of death caused by accident, the policy will pay the sum of ...
(@)  10,000.00 (b)  N50,000.00
(c)  ™500,000.00 (d)  N510,000.00
88.  John Okon was out of work as a result of an accident for six days, how
much will the policy pay to him.
(@)  10,000.00 (b)  N50,000.00
(c)  ™60,000.00 (d)  No payment
89.  How much will the policy pay if he was out of work for seven days?
(@)  N10,000.00 (b)  N50,000.00
() ™60,000.00 (d)  N70,000.00
90.  How much will the insurer pay if he was permanently disabled?
(@)  10,000.00 (b)  I104,000.00
(c)  ¥500,000.00 (d)  No payment

Musa Chukwu has a building which he let out to Toyin Akpan as a tenant.
Akpan bought the building and content insurance to cover the building and her
property. She has in mind that in the event of a fire damage to the building she
will collect the claim and use it to develop her land.

91.  Which insurance policy prevents Akpan to insure the building?

(@)  Insurable interest (b)  Proximate cause
(c)  Contribution (d)  Subrogation

92.  Which section of household insurance covers the building?
(@@  Content section (b)  Building section
(c)  Building and content section (d)  “All Risks’ section.
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93.

94.

95.

Which section will pay for a loss of her diamond necklace?
(@)  Content section (b)  Building section
(c)  Building and content section (d)  “All Risks’ section.

Which section will cover the loss of a television set?
(@)  Content section (b)  Building section
() Building and content section (d)  “All Risks’ section.

If Toyin Akpan is both the owner and occupier of the building, which
section will protect her risks?

(@)  Content section (b)  Building section
(c)  Building and content section (d)  “All Risks’ section.

An international aircraft crashed in Lagos and damaged buildings and other
people. It also killed ten people on ground and 50 passengers it was carrying.

9.

97.

98.

99.

100.

What form of cover will protect the Airline?
(@)  “All Risk” Insurance (b)  Aviation insurance
(c)  Public liability insurance (d)  Compulsory insurance

Which personal line insurance would protect Mr. Musa whose building
was also damaged?

(@)  Motor insurance (b)  Fidelity guarantee

() Personal accident insurance

(d)  Fire and special perils insurance

The particular risk covered by the personal line insurance is called ...
(@)  Collusion (b)  Aircraft and other aerial devices
(c)  Subsidence (d)  Ground heave.

The section of the Aircraft Insurance that covers damage to third parties is

(@)  Control tower section (b)  Public liability section
() Passengers liability section (d)  General risk section

The section that provides cover to the passengers in the aircraft is ...

(@)  Control tower section (b)  Public liability section
(c)  Passengers liability section (d)  General risk section.
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Chief Examiner’s Comment

This is a very good performance with 63.34% of the candidates passing the subject.
However, it is important to note that the section of True/False had the least
performance among the candidates which showed that the candidates did not pay

much attention to the practical aspect of the paper.

Comments on Overall Performance
The overall performance was very good.

Suggestion(s) on Improvement (If any)
There is room for improvement despite the good performance. Candidates are
encouraged to study harder for even better result.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
FO3 - LIFE ASSURANCE, ANNUITY
AND PENSIONS ADMINISTRATION
APRIL 2022 DIET

All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
FOUNDATION

FO3 - LIFE ASSURANCE, ANNUITY AND
PENSIONS ADMINISTRATION
APRIL 2022 DIET

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A
The questions 1 - 60 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.
Example:
A life assurance policy is on ...the life of a person and not on a property. tor
insurance policy would provide cover for:

(@)  the life of a person (b)  the life of a valued pet

(c)  the life of a minor (d) all of the above
The correct option is (a).

Section B

Questions 61 - 85 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.
Example:

A life assurance policy can be issued on the life of a minor (True or False).

The correct option is False (F).

Section C

Questions 86 - 100. This section contains three (3) case studies each followed by
five questions. The case studies are not numbered and appear at the top of the
page. Each of the five questions following a case study is numbered. Four options
follow each question. The options are labelled, a, b, ¢, d. Only one of these options
is correct or best. Select your answer for each question and indicate it on the
answer from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 60)
1. What is the full meaning of NAICOM?

(@)  Nigeria Insurance Commission

(b)  National Insurance Corporation

(c)  National Insurance Commission

(d)  National Insurance Company

2. The standard grace period in life insurance is for ... days.
(@ 30 by 21 (c0 60 (d) 90
3. Which of the following is a method of risk transfer?
(@) Investment (b)  Insurance
() Savings (d)  Security
4. A single life policy covers ...
(a) only one life (b)  anybody
(d) an unmarried person (d)  everybody
5. A joint life policy provides cover for ...
(@  husband and wife only (b)  any two persons only
() two or more persons (d)  brother and sister only
6. The type of term assurance used for mortgage protection is the ...
(@)  convertible term assurance (b)  renewable term assurance
() increasing term assurance (d)  decreasing term assurance
7. A contingent policy pays the sum assured when the ...

(@)  life assured dies
(b)  life assured does not die during the specified period
(c)  The life assured dies during the life time of another specified

person (d)  another specified person
8. Critical Illness Cover (CIC) does not cover ...
(@)  stroke (b)  cancer (c)heart attack (d)  diabetes
9. Group life assurance enables employers to provide for dependants of
employees who ... while in service.
(@)  dies (b)  retires (c)  resigns (d) left

10.  Under the PRA 2014, the group life premium computation is based on
three times the employee’s ...
(@)  basic salary (b)  monthly salary
(c)  total annual emolument (d)  any chosen amount
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11.

12.

13.

14.

15.

16.

17.

18.

19.

In group life policies where the sum assured is proportionate to salary, the
initial premium is ... at the end of the policy year.

(@)  adjusted (b)  the same

(c)  increased by 10% (d) lowered by 10%

Which of these is not a form of business assurance cover?

(@)  Partnership Share Protection (b)  Directors’ Share Protection
() Key Person Insurance (d) Income Protection Insurance

The life insurance policy must be issued by a Nigerian registered ...
(@) life Insurance broker (b)  insurance surveyor
(c) life insurance company (d) life reinsurance company

In underwriting, the rate varies with the ...

(@)  proposal form (b)  term of the insurance cover only
(c)  age of the client and terms of the policy

(d)  age of the client only

A proposal can be accepted at ordinary rate or at ...
(@)  difficult terms (b)  hard terms
(c)  tough terms (d)  special terms

Where an underwriter cannot accept a proposal at ordinary rates, he can
do all of the following except ...

(@)  decline the proposal

(b)  impose some form of special terms
(c)  obtain further information

(d)  accept the proposal anyway to gain the business

A life insurance company must take ... to prevent a catastrophe from
affecting its portfolio.

(@ risk (b) reassurance (c) care (d)  insurance

A life insurance company can obtain further information about a
proposer’s medical condition by ... and/ora ...

(@)  doctor’s report / visit

(b)  medical examination / phone call

(c)  doctor’s report / medical examination

(d)  visit / phone call

Tele-medical interview is used to obtain information directly from the
client by ...

(@) television (b)  telephone (c) telex (d) medicine
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20.

21.

22.

23.

24.

25.

26.

27.

28.

Occupations with above average risk of death by accident does not
include

(@)  Asbestos workers (b)  Scaffolders

(c)  Trawlermen (d)  Oilrig workers

For underwriting in life assurance, the minimum entry age is ... years.
(@ 16 (b) 18 © 21
(d)  Once one becomes gainfully employed

The risks that increase with the passing of time does not include ...
(@)  malaria (b)  being overweight
(c)  tuberculosis (d)  chronic bronchitis

In the ... premium system, the premium remains the same throughout the
term of the policy.

(a) higher (b) lower () level (d)  discount

The underwriter will impose a ... loading if premiums are to be paid more
frequently.

(@  higher (b) lower (c)  basic (d)  blanket

In underwriting, non-medical limit is used for ... Life and free cover limit
is used for ... Life.

(@@  Group / Individual (b)  Individual / Individual
() Group / Business (d)  Individual / Group

For underwriting in life assurance, the maximum age limit at entry is ...

years.
(@) 60 (b) 65 © 70 d) 75

In individual business, an underwriter will accept a sum assured of
N25million and upwards ...

(@@  with HIV testresult only (b)  without medical examination
(c)  with comprehensive test results (ECG, Blood Tests, HIV, Chest X-

ray)
(d)  with medical examination report only

The Schedule in the policy document states all but one of the following.

(@)  Individual details of the life assured (b)  Exclusions
(c)  Premium amount (d)  Premium frequency
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29.

30.

31.

32.

33.

34.

35.

36.

The Conditions in the policy document states all but one of the following.
(@@  Claims procedure (b)  Surrender value
(c)  Consequences of non-payment of premiums (d)  Signature

Additional benefits in the policy document includes all but one of the
following.

(@)  Critical illness cover (b)  Waiver of premium
(c)  Malaria cover (d)  Disability benefit

An endorsement is ...

(@)  notan addition to the standard policy
(b)  anaddition to the standard policy for a short period

(c)  not to set out the terms of an additional benefit to a new policy
(d)  used to set out the terms of alterations to an existing policy
Where premiums are not paid, the life office has ... obligation to send a
reminder to the life assured.

(@) legal (b)  nolegal (c)  great (d) true

Under the Gender Recognition Act 2004, a change of gender has ... on any
existing policy.

(@)  some effect (b)  large effect

() no effect (d) little effect

Under a tenancy in common, on the death of a tenant in common, the
interest ...

(@)  will lapse automatically (b)  passes on to their friends

(c)  passes on to their estate (d)  cannot be disposed of by will

Under an assigned policy, proof of title is not generally called for until ...
(@)  the assured is bankrupt

(b)  payment is required under the policy

(c)  the family sue the assurer (d)  the policy has lapsed

In the payment of a claim under a “life of another” policy, all the benefits
will be paid to

(@)  the proposer (b)  the other life assured

(c)  both the proposer and the other life assured

(d)  the friends of the other life assured
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37.

38.

39.

40.

41.

42.

43.

44.

45.

In the requirements of assignment, a life policy must be assigned in... and
not by mere ...

(@ word / deed (b)  deed / words

(c)  writing / delivery (d)  writing / words

In Scott v. Coulson (1903), Coulson purchased a policy on the life of a
third party who at the date of assignment, and unknown to Scott or
Coulson, was already dead. It was held that the assignment was ...

(@) void (b)  wvalid

() a good deal (d)  perfect

A legal mortgage is where the legal interest is assigned, subject to
redemption, by the ..... to the ........ by a deed of mortgage.

(@) mortgagor / mortgagee (b)  mortgagee / mortgagor
(c)  mortgagee / owner (d)  owner / mortgagee

The purpose of a mortgage is to give ... to the lender.
(@)  security (b)  peace of mind
(c)  joy (d)  tension

If the borrower fails to repay, the lender has all but the following
remedies.

(@  Power of sale (b)  Foreclosure

(c)  Repayment (d)  Reversal

With an Order of Foreclosure Absolute, the mortgagor’s equity of
redemption is ...

(@)  absolute (b)  extinguished

() returned (d)  changed

All claims are subject to all of the following except ...
(@)  payment of all due premiums  (b)  proof of title
(c)  plan of action (d)  production of the policy

In a death claim, all of the following except one is important to the life
office.

(@)  Cause of death (b)  Proof of age

(c)  Date of death (d)  Number of children

All but one of the following is not a direct reassurance company in
Nigeria.

(@  Munich Re (b)  African Re

(c) WAICARe (d)  Continental Re
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46.

47.

48.

49.

50.

51.

52.

53.

Risk transfer through risk pooling is called ...
(a) reinsurance (b)  Bancassurance
(c) Insurance (d)  Savings

Which of the following statements is not true?
(@)  Alife policy cannot have surrender value
(b) A temporary life insurance cover can be purchased
(c

(d)  Alife policy can have a second life included
The premiums payable for a deferred annuity are paid ...
(@)  atretirement

b)  regularly throughout the deferred period

(
(c)  atthe end of the deferred period
(d)  When the policy holder likes

Which one of the following statements is not correct?

(@)  Annuities are regarded as the opposite of life insurance
(b)  Annuities are a survival benefit

(c)  Annuity benefits are not a death benefit

(d)  Annuity benefits usually continues when the annuitant dies
In reversionary annuity, the death benefit is paid at the death of ...
(@)  the second person named in the policy

(b)  the annuitant

(c)  both or all parties named in the policy

(d)  someone not named in the policy

<)

Impaired life annuity is best used to provide cover fora ...
(@)  spouse (b)  blind person (c) a paralyzed person
(d)  aperson with a life expectancy which is below the average age.

Joint life annuity is advisable to provide cover for a ...
(@)  single person (b)  widow

() married couple (d)  divorcee

A ... days of grace period is allowed for non-annual policies.
(@) fifteen (b) thirty (c) ten (d) seven
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54

56.

57.

58.

59.

60.

Which of the following statement(s) is/are true?

Statement I: Underwriting is the process of selling various insurance
products.

Statement II: Underwriting is the process of risk selection and pricing.

(@ IandII are false (b)  Iand Il are true

(c)  Iisfalse and Il is true (d) I'is true and Il is false

55.  All except one of the following can be accepted as evidence of birth
date /age.

(@)  Voter’s card (b)  Birth certificate

(c)  International Passport (d)  National Identification

Which of the following statement is true under the Pension Reform Act

20142

(@)  Anemployee over the age of 50 years does not have to attain the
retirement age of the employer to begin to enjoy pension payments

(b)  Anemployee must serve for 35 years to get pension payment

(c)  Anemployee gets gratuity when he leaves his current employer

(d)  Anemployee does not require a fund manager for his pension

Which of the following is not a type of retirement?
(@)  Early retirement (b)  Personal retirement
()  Normal retirement (d)  Late retirement

In the definition of trust, which one of the following statements is false?

(@)  Trustis an equitable obligation binding the trustee to deal with the
trust property.

(b)  The trust property is held for the benefit of the beneficiaries.

(c)  The beneficiaries always have full control of the trust property.

(d) A person can use a trust to give property to his family and still
have some control over it as one of the trustees.

In creating a trust, there are certainties that must be present for the trust to
be valid which will not include ...

(@)  the words must be imperative and should include ”on trust for”.
(b)  atrustis valid once there is a trustee.

(c)  the property referred to in the trust must be specified / certain.

(d)  the objects / beneficiaries of the trust must be certain.

The Pension Reform Act ... established the Contributory Pension Scheme
(CPS) in Nigeria.

(@) 2015 (b) 2007 (c) 2004 (d) 2014
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SECTION B - ATTEMPT ALL QUESTIONS (Questions from 61 to 85)
Answer True (T) or False (F)

61. The sum assured is the same as the death benefit.

62. The English Mortality tables is used in the computation of life insurance
premium.

63. The assured and the life assured may not necessarily be the same person.

64. In term assurance, the benefit is paid when the life assured survives after the
policy has expired.

65. A whole life policy pays out the sum assured whenever the assured dies.
66. The premium for group life cover is higher than for individual life cover.
67. Group life cover cannot be arranged for employees working abroad.

68. A life assurance policy is not assignable.

69. Underwriting is the name given to the procedure of assessing a proposal and
deciding on whether to accept the risk or not.

70. Life assurance contract is based on utmost good faith.

71. A life insurer uses reassurance to spread its risks.

72. A proposal form cannot be completed online.

73. The proposer pays the doctor’s fee for the medical examination.
74. An underwriter will not investigate usual childhood illness.

75. It is the job of the actuary to calculate the premium to be charged from the
mortality table.

76. Non-medical limit and free cover limit are not the same.

77. Life underwriting can be done without medically assessing the life assured.
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78. The waiver of premium is an additional benefit in a life insurance policy.

79. In equitable assignments, the legal title has not been conveyed.

80. The claims department must ensure that they pay valid claims as efficiently
and speedily as possible.

81. It is not only the person with legal title to the policy that can sign the
discharge form.

82. A death claim is usually initiated by the claimant or the solicitors for the
estate.

83. A grant of probate is used when there is a valid will and the executors are
named therein.

84. Reassurance is used by a life office to reduce its business while increasing its
risk.

85. Under a deferred annuity contract, the annuity payment will not start at some
future date.

SECTION C - ATTEMPT ALL QUESTIONS (Questions 86 - 100)
Read the cases below carefully and answer the questions which follow.

The Policies of Assurance Act 1867 was to simplify actions against a life office
and to make it easier for the office to settle claims. The Act does not enable a
person who has lent money on a second charge, and who has notice of the first
charge, to take priority over the first charge by giving notice to the life office.

Based on this Act, answer the following questions:

86. The Act concerns only the priority of the right to ... and ... against the life
office.

(@  Sue/ claim (b)  Borrow / claim

(c)  Sue / borrow (d) Owe / claim
87. The Act ... the equitable title to the policy.

(@)  Does not affect (b)  Affects

(c)  Increases (d)  Reduces
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88. The effect of giving notice applies to all but one of the following.
(@)  To give the assignee the right to sue
(b)  To gain priority of claim over earlier assignees who have failed to
give notice
(c)  To give the assignee a higher claim payment
(d)  To preserve priority of claim over subsequent assignees

89. Non-production of the policy document to a life office at the time of a claim
can be ... of a third party’s interest.
(@)  Obstructive notice (b)  Considerate notice
() Abundant notice (d)  Constructive notice

90. Under the Act, an assignment can be made by ... on the policy.
(@)  atransfer (b)  anendorsement
(c)  amistake (d) awaiver

Mr. Dan Kekere has taken an endowment policy for twenty-one (21) years with
GDR Life Insurance Company for the sum of N10million. He also wanted to buy
a funeral expense cover on the life of his aged mother for the same amount. At
the same time, he requested for a proposal for a policy to cover the education of

his children.

Use this case to answer the following questions:

91.  When will the endowment benefit be paid to Mr. Kekere?

(@) At maturity (b)  Atdeath
() At surrender (d) At maturity or death
92.  The sum assured for the funeral expenses is ...
(@)  not stated (b)  unlimited
(c)  N10million (d) N20million
93.  The type of insurance to cover the children’s education will be arranged
under which of these traditional life covers?
(@  Term Assurance (b)  Endowment Assurance
(c)  Whole Life Assurance (d)  Annuity
94.  Who is the beneficiary of the policy on the lives of the children?
(@  Mr. Kekere (b)  Mr. Kekere’s Family
() Mr. Kekere’s Children (d)  Mr. Kekere’s Aged Mother
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95.  The beneficiary of the funeral expenses cover is ...
(@  Mr. Kekere (b)  Mr. Kekere’s Family
(c)  Mr. Kekere’s Children (d)  Mr. Kekere’s Aged Mother

Chevron Industries Limited had a workforce of 52 employees in different
locations. The company had some accidents involving some staff members in the
past. The company is a limited liability company and would like a cover to
protect the shareholding of their directors among others.

Use this case to answer the following questions:

96.  Which of these policies will be required to meet the requirement of the
Pension Reform Act 2014?
(@  Whole Life Assurance (b)  Group Life Assurance

(c)  Group Personal Accident Insurance
(d)  Group Credit Insurance

97.  The policy that the Company could purchase to protect staff members
from losses as a result of accident is ...
(@)  Whole Life Assurance (b)  Group Life Assurance
(c)  Group Personal Accident Insurance
(d)  Group Credit Insurance

98.  The policy to protect the directors of Chevron Industries Limited and its

likes is ...
(@)  Group Life Assurance (b)  Directors Share Protection
(c)  Group income Protection Insurance (
d) Group Credit Insurance
99.  Chevron Industries Limited could buy life assurance on the employees
because of the principle of ...
(@)  utmost good faith (b)  insurable interest
(c)  indemnity (d)  proximate cause

100. The principle that enables Chevron Industries Limited to disclose the
material circumstances of the risk before effecting cover is ...
(@)  utmost good faith (b)  insurable interest
() indemnity (d)  proximate cause
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Chief Examiner’s Comment

This multiple-choice question examination Part 1, with direct answers for Part II,
and application of principles in the case studies given in Part III. High scores are
recorded for Parts I and III for most candidates with lower scores for Part II. This
is due to poor understanding of the question or knowledge gained could not be
applied for this True/False option section.

Comments on Overall Performance:
Overall, those candidates who did well scored highly but majority were in the 59-
69 score bracket. The average pass rate performance was 58.8%.

Suggestion(s) on improvement (if any):

Candidates need to firmly understand the course content and apply their
knowledge to the questions set.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
F04 - BUSINESS COMMUNICATION AND
INFORMATION TECHNOLOGY
APRIL 2022 DIET

All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
FOUNDATION

F04 - BUSINESS COMMUNICATION
AND INFORMATION TECHNOLOGY

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS
Section A: The questions 1 - 50 in this paper are numbered and four options follow
each question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.
Example: One of the demerits of electronic communication bothers on its ...

(@)  speed (b)  coverage

() security (d)  accessibility
The correct option is (c).

Section B:

Questions 51 - 60 are to be answered by picking the correctly spelt word.
Example:

(a) Folow (b) Follow (c) Foloow  (d) Followw

The correct option is False (b).

Section C

Questions 61 - 80. This section contains four (4) case studies each followed by five
questions. The case studies are not numbered and appear at the top of the page.
Each of the five questions following a case study is numbered. Four options follow
each question. The options are labelled, a, b, ¢, d. Only one of these options is
correct or best. Select your answer for each question and indicate it on the answer
from by filling in the appropriate box.

Section D
Questions 81 - 90 are to be answered by picking the option that has the sentences
with the correct expression.

Example:  (a) See you soonestly (b) I will see you sooner

(c) Catch ya! (d) I hope to be with you soon
The correct option is (d)
Section E

Questions 91 - 100 are to be answered by picking the option that best completes
the sentence.

Example:
The meeting is scheduled to start ... 10.00a.m. prompt.
(a) at (b) in (c) on (d) for

The correct option is (a)
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 50)

1.

The two major divisions of communication are ------ and ------ .
(a) oral and written (b)  verbal and non-verbal
() verbal and semi verbal (d)  verbal and written

Informal business communication involves all the following except ------------

(@) e-mails (b)  memos (c) SMS (d) MMS
Communication can be said to be non-verbal if it is -------- .

(@) written (b)  read (c)  typed

(d) transmitted through body language

Audio-visual communication uses and

(@) letters and sounds (b)  graphics and sounds

() symbols and graphics (d)  sounds and symbols

One of the following is not a form of body language.

(a) Sirens (b)  Hugging

() Facial expressions (d)  Voice tone

In a situation where the receiver in business communication is unable to

provide information required by the sender, s/he is expected to ---------- .

(@)  ensure that the information is made available to him/her

(b)  inform the sender of the time such information will be available or
who can provide it

(c)  report to the head of the department

(d)  none of the above

Information recording is essential in business communication because it ------
(@) prevents disputes

(b) records verbal information

() provides answers to questions which are raised by the sender

(d) none of the above

Which of the following ensures effective business communication?

(@) Cooperation, content and completeness
(b) Cooperation, content and compassion
() Courtesy, cooperation and content

(d) Courtesy, clarity and completeness
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9. An effective way of tackling language barrier in business communication is

employing a translator (b) repeating information
writing down information communicated
appointing good speakers and writers as heads of departments

10. The core of business communication is to -------- .

(

(b
©)
(d)

a

make for efficient supervision of staff

provide information to business partners

share information that will enhance the actualization of
organizational goals

none of the above

11. Ineffective communication is one that is -----------—-- )

(a)

b

(
c)
(d

)

)

understood by its receiver
misunderstood by its receiver

sent from a junior to a senior officer
all of the above

12. One of the following is not covered in business communication.

(@)
(b)

©)

(d)

Issues relating to advertisement

Information between a business and another person or entity in an
organization’s external environment

Ideas and opinions about an organization’s products and/or
services

None of the above

13. Attitudinal barrier in business communication can result from one of the

following -

(@)
©)

language differences (b)  poor management
personal discomfort (d)  obsolete equipment

is a good example of physical barriers to effective communication.

The emotional state of the receiver
The credibility of the sender
The social status of the sender (d)  None of the above.

15. Bypassing in communication occurs when --------- .

(a)

(
(
(

b

d

)
)

)

men and women adopt different communication styles
communicators are faced with condensed communication tools
a communicator is afraid of criticism

communicators attach different symbolic meanings to words
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16. The major concern of formal letters is/are ------- .

(@) news of the day (b)  enquiries about people’s interests
() business matters (d)  All of the above
17. A business letter contains -------- major items.
(@) two (b)  five (c)  four (d) six
18. Which of the following is the appropriate closing in a formal letter?
(@) Yours’ faithfully, (b)  Yours Faithfully,
() yours faithfully, (d)  Yours faithfully,

19. The principle which demands that business writing be factual and give only
facts that are relevant to a message is that of -------- .

(@) objectivity (b)  clarity
() completeness (d)  accuracy
20. ----—---- is/are not a form of internal communication in an organization.
(@) Advertisements (b)  Memorandum
() Reports (d)  Workshops

21. The purpose of internal communication could be to --------- .

(a) request information (b)  provide information
() record information (d)  all of the above

22. A memorandum is ---------- .

(@) a piece of written communication

(b) informal communication

() semi-formal communication (d)  oral communication
23. The content of an e-mail comprises ----- and ----.

(@) the subject and the message

(b) the subject, message and signature of the sender

() the subject and the header

(d) the header and the message body

24. Which of the following is used for internal business communication only?

(@) A memorandum (b) A newsletter
() A questionnaire (d)  Acircular

25. A major factor that enhances the understanding of a memorandum is that ----
(a) the sender and the receiver have similar business background
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(b) it is usually issued by a senior officer

() the sender and receiver usually have similar professional
background
(d) the subject matter is usually a common one

26. Which of the following is not essential in a memorandum?

(a) The name, initials or designation of the writer (b)  the date
() the complimentary close (d)  the subject and the text

27. Which of the following is true about a memorandum? It is ---------

(@) strictly informal (b)  strictly formal
() less formal than a letter (d)  none of the above

28. One of the following does not enhance external business communication.

(a) improving internal communication
(b) giving out bonuses to customers
() issuing press release
(d) improving the organization’s image
29, -—emem- is a bulletin issued periodically to the members of a society or an
organization.
(@) A newsletter (b)  Acircular
() A gazette (d) Ajournal

30. Which of the following does not apply to all business reports?

(@) terms of reference (b)  summary or synopsis
() additional material (d) findings

31. A major advantage of online advertisements is that they --------- :

(a) are unaffected by weather conditions or power supply
(b) can only be assessed by their target audience
() are sent directly to subscribers
(d) can reach a global audience at a low cost
32. A press release usually contains to words.
(a) 200 - 400 (b) 500 - 1000
(c) 300 - 500 (d) 300 -800
33. Which of these is a research instrument?
(@) Questionnaire (b)  Circular
() Catalogue (d)  Powerpoint

Page 51 of 122



34. Which of the following question types in a survey allows respondents the
liberty to provide their own answers?

(a) scaling (b)  dichotomous questions
() open ended questions (d)  multi choice questions

35. Operational feedback is the type of feedback given by --------- .

(@) research respondents
(b) government agencies
() a company’s employees or management
(d) customers
36. The acronym “IFTDC” is a useful guide in writing ---------- .
(a) terms of reference (b)  pressrelease
() online advertisements (d) memorandum

37. Which of the following is not a type of business meetings?

(a) Extraordinary general meetings (b)  Zonal meetings
() Annual general meetings (d)  Board meetings

38. A document giving details of issues to be discussed in a meeting is known as

(@) notice of meeting (b) minutes
() agenda (d)  resolution

39. The first three items in an agenda are ----------- .

(a) time of the meeting, minutes of the previous meeting and opening
remarks

(b) opening remarks, minutes of the previous meeting and matters
arising

() opening remarks, attendance and minutes of the previous minutes

(d) apologies for absence, minutes of the previous meeting and matters
arising

40. Issues not included in the agenda of a meeting are treated as ------- .

(@) matters arising (b)  special business
() any other business (d)  none of the above

41. The segment of a meeting where its major purpose is discussed is known as --

(a) motion (b) all important businesses
() special business (d) none of the above
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42, - record a concise summary of discussions under the various headings
and the decisions or conclusions reached on each.

(@) Full minutes (b)  Brief minutes
() Standard minutes (d)  Overall minutes

43. Which of these are styles of minutes writing?

(@) Objective and concise (b)  Objective and sub-objective
() Concise and complicated (d)  All of the above

44. Computers on a network are said to be in ---------- .

(@) communication (b)  communion
() contact (d)  None of the above

45. Which of the following is a formal type of oral presentation?
(@) Training sessions (b)  Seminars

() Interviews (d)  All of the above

46. Which of the following is a key factor in the choice of a channel for business

communication?
(a) clarity (b)  confidentiality
() accuracy (d)  conciseness

47. Sensors have the capacity to respond to all the following except ---------- .
(@) light (b)  blood pressure
() voice (d)  alcohol

48. A major advantage of Information and Communication Technology to a
business is that it--------- .

(a) reduces cost (b)  reduces staff workload
() increases staff strength
(d) minimizes dependence on power supply

49. A drone is a ----------- .
(@) flying robot (b)  smoke dictator
() computer software (d)  household machine

50. Alexa is a/an --------- .

(@) sensor (b)  voice recorder
() optical sign dictator (d)  humanoid robot
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SECTION B: (Questions 51 - 60) Pick the Word that is Correctly Spelt

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

SECTION C: (Questions 61 - 70) Choose the Sentence Which is Correctly

(@)  Illuision (b)
[llusion

(@)  Hetrogenous
(c)  Heterogeneous

(@)  Autholitarian
(c)  Autoritarian

(@)  Pejurative (b)
Pejorative

(@  Proppelant (b)
Prorpellant

(@ Sensuous  (b)
Sencous

(@  Tranquility (b)
Trainquility

(@)  Increduluous
() Incredilious

(@  Physcicist  (b)
Physicist

(@)  Promiscously
() Promiscuosly

Written

61.

(a

Elussion

Pejoritive

Propelent

Sensous

Trasnquility

Physicyst

©)

[ution (d)

Heterogenous
Heteregenous

Authoritarian
Authoritaran

Pejoretive  (d)

Propellant  (d)

Senseous (d)

Tranquillity (d)

Incredulous
Incredullos

Phycisist (d)

Promisciously
Promiscuously

)  Heremoved his tie because he was feeling too much heat.
b)  He removed hid tie because he was feeling too hotness.

(
(0  Heremoved his tie because he was feeling too hot.
(d)  Heremoved his tie because he was feeling so heat.
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62.

63.

64.

65.

66.

67.

68.

69.

70.
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It’s because of my liking for you that I invited you.

It’s because of my likeness for you that I invited you.
It's because of my likeliness for you that I invited you.
It's because of my like for you that I invited you.

Kemi suffered a fatal accident but later recovered.

Kemi suffered a serious accident but later recovered.
Kemi suffered a futile accident but later recovered.
Kemi suffered a fertile accident but later recovered

Malaria is a popular disease in Africa.

Malaria is a more popular disease in Africa.
Malaria is the most popular disease in Africa.
Malaria is a common disease in Africa.

James finished to type his essay yesterday.

James finished typing his essay yesterday.
James has finish typing his essay yesterday.
James just finish typing his easy yesterday.

Jennifer keep making excuses for her lateness.

Jennifer keep to make excuses for her lateness.
Jennifer have kept making excuses for her lateness.
Jennifer keeps making excuses for her lateness.

I suggested him to raise the matter with the manager.

I suggested for he to raise the matter with the manager.
I suggested that him should raise the matter with the manager.
I suggested his raising the matter with the manager.

The company decided buying new cars to replace old ones.

The company has decided to buying new cars to replace old ones.
The company decided to buy new cars to replace old ones.
The company has decide to buy new cars to replace old ones.

Mr. Tanko was told to stop to introduce irrelevant points.

Mr. Tanko was told to stopped introducing irrelevant points.
Mr. Tanko was told to stop introducing irrelevant points.
Mr. Tanko was ask to stop introducing irrelevant points.

All his clothings were destroyed in the fire.

His clothing was destroyed in the fire.
His underwears were destroyed in the fire.
His knicker was destroyed in the fire.
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SECTION D: (Questions 71 - 80) Choose the Sentence Which is Correctly
Punctuated
Which of the sentences is correctly punctuated?

71.  (a)  When people riot they behave violently.
(b)  When people riot, They behave violently.
(c)  When people riot, they behave violently.
(d)  When people riot: they behave violently.
72.  (a) Idon’t know if we can withstand the rigours of another winter?
(b)  idon’t know If we can withstand the rigours of another winter.
(c)  Ido’nt know if we can withstand the rigours of another winter.
(d)  Idon’t know if we can withstand the rigours of another winter.
73.  (a)  They’ve been robbed! Some people broke into their flat last night.
(b)  They’ve been robbed! some people broke into their flat last night.
(c)  they’ve been robbed! some people broke into their flat last night.
(d)  they’ve been robbed! Some people broke into their flat last night.
74.  (a)  That's not good; is it. (b)  That’s not good is it?
(c)  That's not good, is it? (d)  Thats not good, is it!
75.  (a) A Teamisa group of people who play or work together.
(b)  ateam is a group of people who play, work together.
(c)  Ateamis a group of people, who play or work together.
(d) A teamis a group of people who play or work together.
76.  (a)  Ithinkisaw him over there.
(b)  1ithink I saw him over there.
(c)  Ithink I saw him over there.
(d)  Ithink, I saw him over there.
77.  (a)  This car must be theirs’. (b)  This car must be theirs.
() This car must be their’s. (d)  this car must be theirs.
78.  (a)  The meeting starts at one oc’clock.
(b)  The meeting starts at one “oclock.
(c)  The meeting starts at one oclock.
(d) The meeting starts at one o’clock.
79. (a) Canwe meet on monday? (b)  can we meet on monday.

(0  Can we meet on Monday? (d)  Can we meet on Monday.
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80.

(@)  If you speed, you move fast.
(b)  if you speed, You move fast.
(c)  If you speed? you move fast.
(d)  If You speed, You move fast.

SECTION E - ATTEMPT ALL QUESTIONS (Questions 81 - 90)
Read the questions below carefully choose the option that correctly fills the
blank spaces.

81.

82.

83.

84.

85.

86.

87.

88.

In order to carry out the necessary examination, the dead body was --------- .
(a) extracted (b) exhumed () extradited (d) expelled

He went abroad with a view ------- a business partner.
(a) to find (b)  tofinding
(c) to be finding (d) to have founded

The teacher found out that some of her students ------- the class.
(@) have left (b)  has left (c)  hadleft (d) haveleave

Tell her I can’t attend the party, ------- a cold.
(@) Iam having (b) Ihavehad (c) Ihasgot (d) Thave

The discontented men ------ up trouble among the workers.
(@) starred (b)  steered () stirred (d) started

Three policemen were killed when the bomb they were trying to -------
exploded.
(@) diffuse (b)  deffuse (c)  defuse (d) difuse

------- Science and Technology, many African countries have not made
significant progress since their independence.

(@) With regards to (b)  Inrespectto

() As far as (d)  Withregard to
The commissioner of Education with his secretary ------- expected yesterday.
(a) are (b) was () were (d) is
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89. The Director General has already communicated with all the -------- on the

matter.
(a) head of departments (b)  head of department
() heads of department (d)  heads of
departments

0. - apologised or face the consequences.
(a) You are bound to (b)  You'd better
() You are better to (d)  You better

SECTION F - ATTEMPT ALL QUESTIONS (Questions 91 - 100)
Read the cases below carefully and answer the questions which follow.

Researches by the Word Health Organization (WHO) report that excess
consumption of alcohol causes four percent more deaths than the dreaded
Acquired Immune Deficiency Syndrome (AIDS) and tuberculosis worldwide.
According to these reports, 2.5 million people die every year out of alcohol
abuse. These reports also disclose that the rising income in Africa and Asia is a
major factor in alcohol abuse in the two continents while it is attributable to
depression and other psychological factors in developed countries.

WHO, which is a global body, has therefore advised governments to institute
stringent alcohol control policies as a way of saving humanity from the
devastating consequences (violence, disease, road accidents, child neglect among
others) of the ugly menace of alcoholism.

91.  The passage suggests that many Africans and Asians have the tendency to
consume more alcohol when --------- .
(@)  thereis improved living standard (b)  they are bereaved
() national incomes are low (d)  weather is good

92.  Which of the following is not true according to the passage?
(@)  Alcohol abuse is a problem of African and Asian countries only.
(b)  More people die yearly from excess consumption of alcohol than
from AIDS.
(c)  Every government ought to institute strong alcohol control policies.
(d)  People in the developed countries are less likely to indulge in
alcoholism when their income increases.

93.  The tone of the passage can be said to be -------- .
(@)  persuasive (b)  alarming
(c)  conciliatory (4) nonchalant
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94. From the passage, it can be deduced that the World Health Organization -
——————— excessive alcohol consumption.

(@) condemns (b)  supports
(c)  penalizes (d)  isneutral about
95.  The word ‘stringent” as used in the passage means --------- .
(@)  miserly (b)  loose () very strict (d)  harsh

It is usually said that experience is the best teacher, but to learn consciously
through wisdom may be a better and more convenient way to learn because to
learn by experience is to learn from mistakes. It means you have burnt your fingers
and now ‘your eyes are open’. This is a tough, costly and inconvenient way to
learn. Rather than leaving our learning to experience, why do we not learn
consciously through wisdom? We can learn by consciously going out of our way
to acquire knowledge and wisdom rather than leave our learning to chance.
Surely, we can learn from mistakes but why wait till when we make mistakes
before we learn? We should place more value on learning by wisdom than by
experience.

Learning by wisdom involves one making up one’s mind to be not only decisive
in learning but also to couple one’s decision with a complete and wholehearted
devotion.

96. A suitable title for the above passage is ---------- .
(@)  Learning by experience
(b) A better way to Learn
(c)  The importance of learning
(d)  Learning in a hard way

97.  The writer of the passage seems to ---------- .
(@)  have a different opinion about how to learn
(b)  concur with popular views about learning
(c)  disbelieve the importance of learning
(d)  None of the above

98.  According to the passage, learning is better acquired through ------- .
(@)  one’s experience
b)  other people’s experience

c) by chance

d)  one’s acquisition of knowledge and wisdom

(
(
(
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99.  Learning by wisdom involves --------- .
(@)  decisiveness and devotion
(b)  devotion and hardwork
(c)  commitment and strength
(d)  doggedness and commitment

100. The phrase ‘you have burnt your fingers” as used in the passage means ---.
(@)  one’s fingers must have been burnt by fire
b)  one must have realized one’s strength

c)  one would have had bad experience

d)  one would have lost so much

(
(
(

Page 60 of 122



Chief Examiner’s Comment

The general performance of candidates is poor. The majority of them scored below
70% which is the cut off mark. This could be attributed to candidates” poor
knowledge of information technology, and grammar particularly coupled with
perhaps, lack of concentration during studies. The coursebook is quite adequate
and comprehensively and covers the topics from which the questions were set.

Comments on Overall Performance:
The general performance is below expectation.

Suggestion(s) on improvement (if any):

Candidates are advised to study their coursebook with attention and ensure they
cover all the topics therein.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
F05 - INSURANCE UNDERWRITING PROCESS
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All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.

Page 63 of 122



CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION

F05 - INSURANCE UNDERWRITING PROCESS

INSTRUCTIONS TO CANDIDATES
READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A
The questions 1 - 50 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.
Example:
Employers’ liability insurance certificates are legally required to be kept for a
minimum of ...

(@) 40 years from inception (b) 50 years from inception

(c) 40 years from expiry (d) 50 years from expiry
The answer is option (c).

Section B
Questions 51 - 60 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.

Example:
An employers’ liability insurance never expires. (True or False).
The correct option is False (F).

Section C

Questions 61 - 75. This section contains three (3) case studies each followed by five
questions. The case studies are not numbered and appear at the top of the page.
Each of the five questions following a case study is numbered. Four options follow
each question. The options are labelled, a, b, ¢, d. Only one of these options is
correct or best. Select your answer for each question and indicate it on the answer
from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 50)

1.

When it comes to disclosure of material facts, which of these is correct?

(@  The duty of material facts lies on the proposer alone

(b)  The duty is that of the insurer only

() Disclosure of material facts does not arise if there is an
intermediary in between the two parties

(d)  The duty of disclosure of material facts rests on the two parties to
the contract

Traditionally, what is the most common means by which an underwriter
receives information regarding the risk from the insured?

(@  Quotation (b)  Proposal form

() Prospectus (d)  Leaflets

Contracting out under the UK’s Insurance Act 2015 means ...
(@)  cancellation of the contract totally

(b)  both parties opting out of the provisions of the Act

(c)  bringing in an intermediary to handle the transaction

(d)  dispensing with the use of proposal form

The amount paid to the insurer in consideration of the insurer agreeing to
cover the risk is called a/an ...

(@)  deposit (b)  reimbursement

(c)  premium (d) offer

When an insurance man talks about the law of large number, they are
referring to the ...
(@)  number of similar risks

(b)  concentration of insurance company in a location

(c)  association of the top insurance companies

(d)  compilation of risks with large premiums

An underwriter quoted a rate per mille. This rate is based on ...
(@)  thousand (b)  hundred

(c)  million (d)  multiple ten

In which of these classes of insurance will turnover be used as the basis
for premium calculation?

(@)  Fire insurance (b)  Public liability

(c)  Contractors All Risk (d)  Erection All Risk
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10.

11.

12.

13.

14.

15.

16.

17.

Wage roll will be used for calculating premium for which class?

(@)  Burglary (b)  Electronics/computer
()  Money insurance (d)  Employer’s Liability
For which class of policy will fees be appropriate to calculate premium?
(@  Product liability (b)  Fidelity Guarantee

(c)  Professionals’ Indemnity (d)  Public Liability

A certificate of insurance is legally required even when the policy is
issued immediately for which class of insurance?

(@)  Goods in Transit (b)  Motor

(c)  Travel insurance (d)  Fire and special perils

All except one of these methods is a method of premium collections.
(@)  Barter exchange (b)  Single upfront cheque payment
(c) By credit arrangement (d) By monthly installments

The standard fire covers all except one of these perils.
(@  Malicious damage
(b)  Explosion (limited to domestic usage)

(c)  Lightning (d)  Fire.

Out of the following, which one is not a special peril?

(@)  Spontaneous fermentation (b)  Earthquake

(c)  Lightning (d)  Malicious damage
Which of these will you not find in a money policy?

(@)  Cashin transit (b)  Goods in transit

(c)  Cashin safe (d)  Cashin personal custody

Which of these is not an exclusion under the Fore and Special Perils cover?
(@ War (b)  Radioactive contamination
() Consequential loss (d)  Impact

The All Risks policy actually do not cover everything as it contains
exclusions. How many groups can these exclusions be grouped?

@ 4 ® 3 © 5 d) 2

You were going through a policy document and came across “escort
warranty”. Which policy will this be?

(@@  Goods in transit (b)  Money insurance

(b)  Contractual All Risks (d)  Burglary
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18.

19.

20.

21.

22.

23.

24,

25.

Insurance policies that involve direct financial losses are known as ...
(@)  liability insurances (b)  material damage policies
(c)  engineering insurance (d)  pecuniary insurance

The maximum time the income of a business will be affected as a result of
damage by an insured peril is known as ...

(@)  recovery period (b)  insurance period

(c)  indemnity period (d)  anniversary period

The sum insured in a business interruption policy is ...
(@)  gross profit (b)  turnover
(c)  gross earnings (d)  annual purchase cost

The consequential loss policy does not exist on its own, there must be
another policy covering physical loss to subject matter. What provision is
usually inserted to ensure this position is in place?

(@)  Contractual binding evidence

(b)  Co-insurance clause provision

(c)  Material damage provision (d)  Reinsurance provision

Under which heading will the cost of hiring alternative premises, office
contents and corporate events to reduce loss be treated in a business
interruption policy?

(@)  Auditor’s fee (b)  Increased cost of working
()  Wageroll (d)  Material damage cover

This policy covers firms or companies in respect of costs arising out of the
need to take action in the courts or to defend an action brought against
them covering the cost of the firm and employee’s time spent in court.
Which policy will this be?

(@)  Professional indemnity (b)  Product liability

(c)  Loss of profit (d)  Legal expenses

Which type of policies are designed to take off the breach of duty of care-
negligence?

(@)  Material damage policies (b)  Liability policies

(c)  Engineering insurances (d)  Accident insurances

In an Employers’ Liability policy, who is the insured?
(@  The employer (b)  The employees
(c)  The workers” union (d)  The public
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26.

27.

28.

29.

30.

31.

32.

A young man had gone to a company to inquire about the procedures of
how to become an independent seller of their products, while exiting the
reception door, the door fell and injured him. Under what policy can the
company claim to meet costs and damages to the young man?

(@  Legal expenses (b)  Product liability

(c)  Public liability (d)  Erection All Risks

Bayus bought an equipment for use by the family in the kitchen. While
unwrapping it in the glass, the equipment broke injuring him because it is
weak. He is yet to test the product. Which policy would the manufacturer
recourse to for indemnity?

(@  Legal expense (b)  Warranty policy

(c)  Property damage policy (d)  Product liability

The typical liability policy is based on breaches which result in legal
liability for injury, loss or damage to third party property. Which policy in
the liability class pays damages based on pure financial loss?

(@)  Fidelity guarantee (b)  Legal expenses

(c)  Professional indemnity (d)  Consequential loss

Which of these factors does not have a direct effect on the market cycles?
(@  Membership structure of the CIIN

(b)  Amendment to legislation

() Weather related incident (d)  Major disasters

In assessing a risk proposed, the underwriter must look at the qualitative
aspects as well as the quantitative aspects before bringing the risk into the
pool. What measure is the quantitative aspect about?

(@)  Valuation (b)  Industry class

() Past history (d)  Future projection

The use of MPL also called EML is important to the underwriter in
determining gross acceptance and in reinsurance arrangement. This will
be relevant in which of this class of insurance?

(@)  Public liability (b)  Commercial motor fleet
() Free material damage (d)  Money insurance

The determination of the EML is very important for which the
underwriter will depend on a specialist for guidance. Who is this
specialist?

(@)  The investment advisor (b)  The claims administrator
() The loss adjuster (d)  The surveyor
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33.

34.

35.

36.

37.

38.

39.

When a single event such as a natural occurrence, storm/hurricane -
brings about losses affecting several policies. This is called ...

(@) landslide (b)  accumulation

(c)  catastrophe (d)  combination

An arrangement in which the reinsurer accepts an agreed proportion of all
insurances written by an insurer which falls within the treaty is called ...
(@)  surplus (b)  quote

() co-insurance (d)  Excess of loss

You are told that a reinsurance arrangement involves arranging cover in
terms of lives once its retention is exceeded. What type of reinsurance
arrangement is this?

(@)  Surplus (b)  Quota share

() Co-insurance (d)  Excess of loss

What type of reinsurance arrangement is most suitable for basic liability
reinsurance requirement?

(@)  Stop loss (b)  Quote share

(c)  Surplus (d)  Excess of loss

An insurer looking at their experience is concerned primarily with
protecting its loss ratio such that it does not exceed a stated maximum loss
ratio. What type of reinsurance should they take up?

(@)  Excess of loss (b)  Surplus

() Stop loss (d)  Quota share

What part of the expenses of the insurance operations is referred to as the
principal cost of production?

(@  Accommodation costs (b)  Claims expenses

() Underwriting cost (d)  Personal costs

Every day in Oshodi, Yaba, Mile 12 and Ikorodu Garage all in Lagos many
phone, handsets are stolen everyday, but relative cost of each is relatively
low. How would you depict this in terms of severity and frequency?

(@)  High frequency, low severity

(b)  Low frequency. low severity

(c)  High frequency, high severity

(d)  Low frequency, high severity
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40.

42.

42.

43.

44.

45.

46.

47.

How would you classify the Bhopal Gas Leakage disaster of 1984 in India?
(@)  High frequency, low severity

(b)  Low frequency, low severity

(c)  High frequency, high severity

(d)  Low frequency, high severity

Claims ratios are very important in analysing the technical performance of
an insurance company. Which ratio makes use of just claims lodged and
premium received during the period?

(@)  Outstanding loss ratio (b)  Earned loss ratio

(c)  Policy year loss ratio (d)  Underwriting year loss ratio

Which of these is not one of the essentials of a contract?
(@)  Offer (b)  Acceptance
() Consideration (d)  Dispute

The proposal form is the most common method the underwriter obtains
information for the risk proposed. Which of those is not used to support
or as alternative to the proposal form?

(@)  Broking slip (b)  Discharge form

() Risk survey (d)  Supplementary questionnaire

Hazards are applicable to every risk. How many classifications of hazards
are there in insurance?

@ > (b) 4 © 2 (d) 3

The profit or result of the insurance company without the inclusion of
investment income is ...

(@)  turnover (b)  variable result

() profit after tax (d)  underwriting result

In which class of claims are periodic payment order (PPO) commonly
used in recent times?

(@  Consequential loss claims (b)  Burglary claims

() Liability claims (d)  Engineering claims

In liability cases, it might take many years between the cause and the
claim; resulting in the claim being reserved for a long number of years.
What are these claims called?

(@)  Latent claims (b)  Catastrophe claims

(c)  Accumulation claims (d) Large claims
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48.

49.

50.

The 2003 Insurance Act in Nigeria regulates the rate of commission
payable to intermediaries. Which of these is not with the provisions of the
Act

(@@  Commission rate of 12.5% for private motor

(b)  Commission rate of 15% for commercial vehicle

(c)  Commission rate of 15% for workmen’s compensation

(d)  Commission rate of 20% for burglary

The ROCEL return on capital employed is a measure of ...
(@)  turnover /gross premium (b)  expenses
(c)  investment income (d)  profit

In an automobile accident, a third party by the roadside was hit and

seriously insured, under which scope of motor cover is there to indemnify

the user/driver?

(a) Third party only

(b)  Third party and comprehensive

() Road Traffic Act, Third Party, Third Party, Fire & Theft and
Comprehensive.

(d)  Comprehensive alone

SECTION B - ATTEMPT ALL QUESTIONS (Questions from 51 to 60)
Answer True (T) or False (F)

51.

52.

53.

54.

55.

56.

The third-party insurance that provides indemnity to a policy holder (an
employer) where an employee is using their own vehicle on the
employee’s business is called fleet insurance.

Single article limits are found in a Goods-in-Transit Policy that contain
many packages belonging to the same insured.

Apart from Motor Insurance and Household Insurance, helplines are also
a feature of Travel Insurance.

The schedule section of the policy gives information about the specific
insured and subject matter of insurance.

A deductible is a large excess.

The proposal form is very important in an insurance contract and is the
only source of obtaining material information.
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57.

58.

59.

60.

Data and information is key to insurance operations, either as individual
companies or as an industry. The NIID database deals with housing and
collapsed buildings in Nigeria.

Extended warranty policies are sold at the point of sale and so are
generally underwritten and so claim payment is offered by the product
fellow.

Implied conditions are assumed to exist by laws and practice and do not
need to appear on the policy document.

For compulsory insurances, it is a statutory requirement that certificate of
insurance must be issued to prove that there is a policy in place in relation
thereof.

SECTION C - ATTEMPT ALL QUESTIONS (Questions 61 - 75)
Read the cases below carefully and answer the questions which follow.

Mr. Malum, for the first time. took out an insurance cover. After completing the
proposal form, he was issued a comprehensive policy document and asked to
read it and come up with areas where they need clarifications or do not
understand. He actually came up with observations.

61.

62.

63.

Who is the third party under the policy?

(@  Theinsured (b)  The insurer
(c)  Any party aside the insurer and insured

(d)  The regulatory body

What is the purpose of the policy document?
(@)  Itis the contract between the two parties
(b)  Itis the evidence of the contract

() It is the evidence that the subject matter was inspected

(d)  Itis the evidence of friendship between two parties

He wants to know the document that he should show to the Police or
FRSC out of all the documents passed to him by the insurance company in
the course of any transaction with either the Police or FRSC. Which one
should he show them from the options below?

(@)  Proposal form (b)  Payment receipt

() Cover letter (d)  Motor certificate.
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64. New to insurance came to a section where it is said that a certain amount
or proportion will be deducted from each and every claim. What would

this be?
(@)  Excess (b)  Contribution
(c)  Proximate cause (d)  Cooperation clause

65.  Which part of the policy make reference to the fact that two parties are
involved in the contract?
(@ Heading (b)  Preamble
(c)  Operative clause (d)  Signature

You have been chosen to stand in for your study group and explain the concept
of pricing in relation to insurance to a body of young persons interested in
insurance.

66.  The amount charged for insurance cover which includes element of profit
and expenses is the ...
(@)  net premium (b)  basic premium
(c)  gross premium (d)  adjustable premium

67.  The expected ultimate cost in claims for the risks accepted is the ...

(@)  flat premium (b)  net premium
(c)  gross premium (d)  risk premium
68.  In pricing insurance, the expected number of claims of a specified peril
will occur is important and is referred to as ...
(@)  repetition (b)  frequency
() median (d) maxima
69. A large number of claims all arising from a common event say flood has a
serious effect on insurance cost and is called ...
(@)  catastrophe claims (b)  large claims
(c)  latent claims (d)  particular claims
70.  The average cost of claims of different types or the financial magnitude of
an average claim is known as ...
(@)  exposure (b)  large claim
(c)  variable expenses (d)  severity

Page 73 of 122



Mr. Ayonitemi is the owner of a medium sized manufacturing company that
came to you that he was told of a Business Interruption policy that would help in
the event of a fire loss to his building, plants and machinery. Your answers will
help him understand this cover better.

71. By which other name is the policy called that makes its purpose clearer?
(@)  Enhanced fire policy (b)  Loss of profit
(c)  AllRisks
(d)  Combined Comprehensive Package Policy

72.  What is the main cover in Business Interruption policy?
(@)  Gross profit (b)  Turnover
() Earnings (d)  Expenses
73.  InInterruption Insurance, the maximum time the income of the business

could be affected as a result of damage caused by an insured peril is ...
(@)  reconstruction period

(b)  reinstatement period

(c)  indemnity period (d)  rebound period

74.  The material damage provision found in every business interruption
policy is to the effect that there is a property damage in place. Which of
these satisfies the provision?

(@)  Fidelity guarantee (b)  Burglary/theft policy
(c)  Fire and special perils policy (d)  Public Liability Policy

75.  The costs which vary in direct proportion to the level of the turnover in
Business Interruption are known as ...
(@)  decreasing expenses

b)  low level expenses

c)  miscellaneous expenses

d)  uninsured working expenses

(
(
(
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Chief Examiner’s Comment
The candidates performed relatively well with about half of them scoring above
the pass mark.

Comments on Overall Performance:
It is expected that student should continue to perform well even above this current

level.

Suggestion(s) on Improvement (if any):
Candidates should continue to study well to maintain a decent pass in the course.
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All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION

F06 - MOTOR INSURANCE PRODUCTS

INSTRUCTIONS TO CANDIDATES
READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A

The questions 1 - 50 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.

Example:

Which insurance principle does new for old overrule?
(@)  Average (b)  Contribution
(c)  Indemnity (d)  Subrogation

The answer is option (c).

Section B
Questions 51 - 60 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.

Example:

A comprehensive motor insurance policy would provide cover for all types of
accidental damages without any exclusion (True or False).

The correct option is False (F).

Section C

Questions 61 - 75. This section contains three (3) case studies each followed by five
questions. The case studies are not numbered and appear at the top of the page.
Each of the five questions following a case study is numbered. Four options follow
each question. The options are labelled, a, b, ¢, d. Only one of these options is
correct or best. Select your answer for each question and indicate it on the answer
from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 50)

1.

The Road Traffic Act 1988 consolidated the various statutes before it. Into
how many parts is this Act divided?

@ 3 (b) 5 © 7 d) 9

If the holder of a driver license becomes aware of a relevant or prospective
disability, which body must they notify?
(@@  ABI (by DVLA (0 MID (d) CUE

The Road Traffic Act gives the police the right to ask the motorist to
produce the certificate of motor insurance but under the new dispensation
all certificates are to be uploaded into a platform. Which body’s platform
is this?

(@) ABI (b)y DVLA (o MID (d) CUE

Before the Motor Vehicle (compulsory insurance) Regulation 2000
motorists were to insure third party risks whilst on the ‘road’. Where does
the extension brought in place expect the third-party risks to cover?

(@)  Other public places (b)  Entertainment place

() Sporting facilities (d)  Educational institutions

Which other alternative does the Road Traffic Act allow for provision of
third-party liability other than insurance?

(@)  Bank current account (b)  Equity certificate

() Government bond (d)  Security

When an insurer in the UK cancels a policy of motor insurance to which
body should they notify the attaching motor insurance certificate?

(@  The police (b)  Motor Insurance Bureau
() Motor Insurance Database (d)  Motor Research Centre

The Deregulation Act requires that policy restrictions will no longer be
effective in relation to third party liability in all these situations except
one. Which is it?

(@)  Use to which the vehicle is put  b) Condition of the vehicle
()  Number of persons the vehicle carried

(d)  The age or physical condition of the driver
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10.

11.

12.

13.

14.

15.

An individual who was the negligent party in a road accident died

although they had valid insurance policy cover. What action can the third

party take?

(@)  The third party should take the family to court

(b)  The third party has the right to proceed against the insurer

(c)  Proceed against the M.L.B.

(d)  The third party should proceed against the Motor Insurance
Database

Which of these is not true of emergency treatment fee?

(@) It has to be paid by the motorist involved or their insurer
(b)  Payment has to be made whether or not the motorist was negligent
() It is an optional cover a motorist may choose not to purchase

(d)  Payment does not affect the No-Claims-Discount

Which body is charged with the administration of the Green Card System?
(@)  Council of Bureaux (b)  European Parliament

(c)  Council of E.U. Insurers (d)  E.U. Police Council

For how many years is the UK Information Centre (UKIC) obliged to keep
information after the date of an accident to a foreign motorist?
(@)  3years (b) 4 years () 5 years (d) 7years

When an insurer or claims representative is notified of an accident, what
period do they have to provide compensation or otherwise?
(@ 12months (b) 6 months () 3 months (d) 2 months.

Which body is charged with the administration of the Brown Card
System?

(@)  Nigerian Insurers Association  (b) = Brown Card Bureaau
() Council of A. U. Insurers (d)  A. U Police Council

The equivalent of the international motor insurance certificate in the West
Africa sub-region is ...

(@@  Brown Card System (b) ECOWAS Visa Certificate
() Regional Travel Passport (d)  African Union Motor Tag

Conviction sentence of imprisonment cannot be spent if above a specified
number of years. What would this specified number of years be?

(@)  4years (b)  5years

() 6 years (d)  7years
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16.

17.

18.

19.

20.

21

22.

Limitation period for bringing an action in tort for property damage is ...
(@)  3years (b) 4 years
(c)  Syears (d) 6years

Under the Motor Vehicle (Third Party) Insurance Act 1950 Nigeria, some

categories of drivers are exempted from having motor insurance, which of

these is not among?

(@)  Vehicles owned by the government.

(b)  Motor vehicle owned by a person who has made a deposit with the
Accountant-General of the Federation.

(c)  Vehicles owned by recognised traditional leaders.

(d)  Vehicle at any time it is used for police purposes.

Which of this information is not statutorily required on the Motor
Certificate of Insurance by the Motor Vehicle (Third Party) Insurance Act
1950 in Nigeria?

(@)  Details of vehicle covered.

b)  Scope of cover on the vehicle.

C) Limitations as to us.

d)  Persons or classes of persons entitled to drive.

(
(
(

There are two types of certificates, the “unspecified certificate’ is also
called ...

(@)  blanket certificate (b)  cover note

(c)  proposal form (d) temporary cover

The development is to now issue motor cover notes electronically but in
cases when issued manually, it is of how many copies?

@ 1 b) 2 © 3 d) 4

Which section of the policy customizes the policy document to provide an
outline of the cover given?

(@) Preamble (b) Operative clause

() Schedule (d) Signature clause

Insurers would like to have all the relevant information about the risk at
one and have a traditional way of collecting such details. This is by means
ofa/an ...

(@)  invitation letter (b)  proposal form

(c)  offer letter (d)  introduction letter
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23.

24.

25.

26.

27.

28.

29.

30.

In a typical proposal form for motor insurance, which of this information
will the insurer not ask?

(@  Full name (b)  Date of birth

(c)  Address (d)  Height

In relation to the vehicle which of this information will have no effect on
the rating?

(@)  Vehicle was purchased from a major dealer

(b)  The area where the vehicle is normally parked
() Details of theft prevention devices

(d)  Alteration from the manufacturer’s standard specification
Which of these will not be true of voluntary excess?

(@)  Itischosen by the insurer themselves

(b)  Itis an addition to the policy excess
(c)  Itisstipulated by the underwriter

(d) It reduces the premium payable

If insurers request for driver’s license number, from which agency would
they crosscheck history of the driver’s conviction result, if any?

(@ MIB (b) ABI (c¢) Council of Bureaux (d) = DVLA

The statement of fact sent by the insurer to the proposer is an alternation
to .

(@)  proposal form (b)  cover note

(c)  motor certificate (d) offer letter

The part of the policy document where the policyholder is reminded that
the proposal, certificate and schedule from part of the contract and should

be read together is ...
(@)  operative clause (b)  preamble
() signature clause (d)  service information

Which of these exclusions cannot be classified as a total exclusion?
(@@ War (b)  Riot or civil commotion
(c)  Invasion (d)  Act of foreign enemy

The notification condition in the policy relates to ...

(@)  co-insurance clause (b)  claim
(c)  re-insurance (d)  additional premium
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31.

32.

33.

34.

35.

36.

37.

A condition in the policy which states that the insurer may talk over and
deal with the defence or settlement of the claim and may also pursue
recovery, relates to ...

(@)  contribution (b)  average

(c)  insurable interest (d)  subrogation

Where a condition states that ‘if at a time a claim is made under the policy
any other policy exists that would cover the claim we will pay only our
share of the claim’. Which principle of insurance is this restating?

(@@  Contribution (b)  Betterment

(c)  Insurable interest (d)  Subrogation

When an insurer accepts liability for a claim but the insured is not in
agreement with the quantum offered by the insurer. Where is this
disagreement referred?

(@) Court (b)  Insurers’ Association
(c)  Arbitration (d)  Solicitor

When an insured is under obligation to deal with a claim only because of
RTA obligations because the insured had breathed a vital policy
condition, which document will the insured sign to authorize them to deal
with third party claim?

(@)  Offer form (b)  Consent and indemnity

(c)  Discharge form (d)  Exit voucher

Insurer’s complaints procedure including details of the Financial
Ombudsman Service for personal insurances will be found in which
section of the policy document?

(@  Schedule (d)  Preamble

() Operative clause (d)  Service information

There are four levels of cover available in motor insurance. Under how
many of them is bodily injury/ death covered unlimited in amount?

(@ 4 (b) 3 © 2 (d 1

Which of these is not true of ‘driving other cars” extension?
(@)  Itisavailable under private motor third party cover
(b)  Itis available under private motor road traffic cover
(c)  The cover given by this extension is third party
(d)  The vehicle must not belong to the policyholder
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38.

39.

40.

41.

42.

43.

44.

A vehicle was stolen whilst parked, however in the course of their journey
the thieves had an accident with it and abandoned it. It was thereafter
recovered and is to be repaired. Which types of cover will offer
indemnity?

(@@  Comprehensive only

(b)  Both third party and comprehensive

() Both comprehensive and third party, fire and theft

(d)  Third party, fire and theft alone

A motorist skidded off the road during a rainfall which made the tarred
road to be slippery. It was only the vehicle owned by him that was
damaged. Under which policy can he claim indemnity?

(@)  Road Traffic Act (b)  Third Party only
(c)  Third party, fire and theft (d)  Comprehensive

Under a motor private policy, the insurer can offer indemnity through
these methods except one of these. Which one is it?

(@)  Repairs (b)  Replacement

() Pay cash (d)  Reinstatement

Where in the policy will you expect to find details of the applicable excess
to the policy?

(@)  Schedule (b)  Operative clause

(c)  Preamble (d)  Service information

Accessories are very important to the operation of the insured car. Which
of these will not qualify to be regarded as a car?

(@)  Spare wheel (b)  Radio

() Car jack (d)  Telephone handset

In indemnifying an insured, it was said that the amount payable for total
loss is the amount it will cost to replace a vehicle with one of similar make,
model, condition and mileage. What will that be?

(@)  Agreed value (b)  Market value

() Dealer/distributor price (d)  Subjective value

A vehicle with a seating capacity in excess of eight including the driver’s
seat is classified as a ...

(@)  special car (b)  modified vehicle
(c)  bus or coach (d) tricycle
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45.

46.

47.

48.

49.

50.

In a situation where one person may rely on another to arrange insurance
but due to that insurance providing inoperative for some reason, incurs a
liability in circumstances over which they have no direct control. Which
type of cover can they arrange in anticipation of such situation?

(@)  Road Traffic Act (b)  Contingent liability

(c)  Occasional Business Use (d)  Green Card Extension

An employer allows their employees to use their personal cars for official
business once in a while but those vehicles might be insured for domestic
and pleasure purpose use only. Which policy can the employer obtain to
provide indemnity in such a situation?

(@)  Road Traffic Act (b)  Contingent liability

() Occasional Business Use (d)  Green Card Extension

The Insurance Act 2003 in Nigeria increased the scope of compulsory
cover for motor insurance by requiring that every motor insurance policy
must have a minimum of a prescribed amount for third party property
damage. What is this amount?

(@)  N1,000,000.00 (b)  N750,000.00

(c)  N500,000.00 (d)  N100,000.00

A private car insured under comprehensive policy was involved in an
accident when it somersaulted several times before finally hitting a
concrete road divider. The vehicle could not be repaired economically and
is to be treated as a total loss. This accident vehicle now reverts to the
insurer as is now called ...

(@)  jettison (b)  remnant () reject (d) salvage

The policy under which a private motor insured would be provided with
assistance in respect of uninsured loss recovery is ...

(@)  personal liability (b)  legal expenses

(c)  O.B.U policy (d)  contingent liability.

The Motor Insurance Bureau in the UK provides for the payment of
liability incurred by uninsured or untraced drivers, in Nigeria which body
is responsible for this?

(@)  Nigerian Insurers Association Special Fund

(b)  Insurance Industry Several Liability Fund

(c)  Security and Development Fund

(d)  Nigeria Insurance Liability Pool
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SECTION B - ATTEMPT ALL QUESTIONS (Questions from 51 to 60)
Answer True (T) or False (F)

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

The condition of the policy which stipulates that the insured must prove
that the subject matter exists and that they will benefit from its continued
existence and will suffer financially from it refers to proximate cause.

The provision of the Marine Insurance Act abolishes wagering and
speculating on the lives of public personalities. This is in support of the

principle of insurable interest.

Insurers seek to return the policyholder to the position they were in prior
to an accident. This is indemnity in operation.

An insurer discovers that the policyholder has another policy covering the
subject matter during the same period of insurance and thus request the

other insurer to share the claim settlement with them.

The Accident Report Form is the main method used by the underwriter to
obtain material information for rating purposes.

In common law, any policy that is tainted with fraud is void and is treated
as though it never existed.

In a motor policy the basis of total loss settlement when a vehicle cannot
be replaced economically is the sum insured.

The market is said to be soft when a large number of entrants fiercely
bring down the rates.

The PRAN is the “payer of the resort’ in Nigeria.

The Motor Insurance Bureau in the UK is funded with levy from general
insurers, handling brokers and subvention from the government.

Page 86 of 122



SECTION C - ATTEMPT ALL QUESTIONS (Questions 61 - 75)
Read the cases below carefully and answer the questions which follow.

A lady bought a brand-new car that was insured on comprehensive cover with
Rock Security Insurance Company Limited for &2,000,000.00. The vehicle was
involved in an accident in which she was at fault hitting the other car’s booth.
Both cars were extensively damaged but the insured’s was more affected. A final
repair cost of &1,400,000-00 was given for her car and &1,100,000.00 for the
repair of the third party’s car. A third party was also injured and had to be
admitted into the hospital for bone fractures for two months. How would you
guide the insured?

61.  The third party requested to see evidence that the insured has a valid
insurance cover to drive on a public road. Which document should she
produce for them to see or hold?

(@)  Road worthiness certificate (b)  Vehicle license
(c)  Insurance certificate (d)  Driver’s license
62.  The adjuster’s repair estimate is 70% of the sum insured. The vehicle will
be written off and treated as ...
(@)  average loss (b)  constructive total loss
() particular loss (d)  partial loss

63.  What is the legal liability of the insured to the third party that was injured
and hospitalized for two months?
(@)  Unlimited (b)  21,000,000.00
(c)  ¥500,000.00 (d)  Not liable

64.  The first repair bill for the third party’s vehicle comes to &1,100,000. How
much will the insurer be expected to layout having attended to the
policyholder’s car?

(@)  N100,000.00 (b)  N100,000.00
(c)  ™990,000.00 (d)  Unlimited
65.  The third-party motorist reported the incident to their insurer who

requested that the third party should provide them with the insurance
details of the insured. They want to settle their insureds claim and seek
reimbursement from the insured’s insurer. The principle at play here is ...
(@)  subrogation (b)  co-insurance.

(b)  contribution (d)  indemnity.
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A UK resident policyholder in observance of his annual vacation decided to have
a change of environment and spend this time in two countries within Europe.
Whilst outside the UK he has a slight accident in which he knocked down a local
resident on motorcycle with the third party suffering elbow injury but the
motorcycle was badly damaged and had to be condemned. On his return to the
UK he had a second accident in which one person was injured and another
person’s property was damaged. He has third party cover.

66.  Which extension cover will protect him for journey outside his national
jurisdiction?
(@@  Cover note (b) Green card
(c)  The proposal form (d) International driver’s license.
67.  Which body is responsible for administering the scheme across the
continent?
(@  European Union (b)  European Parliament
() Council of Bureaux. (d)  Motor Insurance Database
68.  Each country must have its own national bureau. Which one is the
national bureau for the UK?
(@  Lloyd’s Motor Syndicate (b)  Motor Insurance Bureau

() Drivers and Vehicle License Authority
(d)  Claims and Underwriting Exchange

69.  For the accident that happened in the UK, what is the time limitation for
bringing an action to bodily injury?

(@) 3years (b) 4 years
() 5 years (d)  6years
70.  What is the time limitation for property damage claims?
(@)  3years (b) 4 years
(c)  Syears (d)  6years
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Mr. Abu Best has for many years been enjoying an official car attached to his
position. Recently he was re-assigned and had to buy a personal car of his own.
For the first time he was involved in an insurance transaction. He took up the
comprehensive policy since the money was provided by the cooperative society.
The policy covers him for domestic and pleasure purpose. He is delivered a set of
documents, first he had to take cover while the car was already in his possession
before the administrator of the cooperative could send him registration
documents necessitating his parking the car in the house for one week. The
insurance company inspected the vehicle after one week when he informed them
that he now has full documentation. He is issued a policy document and has
asked you to guide him through.

71. In the time before the administrator sent the vehicle documents, the
insurer in granting cover gave transport cover. Which document was he
given to show that he was covered for road traffic risks to evidence cover

during this period?
(@@  Cover note (b)  Proposal form
(c)  Offer form (d)  Endorsement

72.  In which section of the policy document will you advise him to check for
personal details relating to him and the vehicle insured?
(@)  Preamble (b)  Operative clause
(c)  Schedule (d)  Information section

73.  If he unintentionally used the vehicle for the employer’s business, which
policy of the employee will pick up any liability since his own will not be
effective.
(@)  Joint policy (b)  Contingent liability
() Commercial liability (d)  Spare liability policy

74.  What medium did he used in presenting material facts about himself and
the subject matter insured to the insurer?
(@)  Claim form (b)  Cover note
(c)  Release form (d)  Proposal form

75.  Onreading through the policy document, he saw in a section a provision

to the effect that he would be responsible for 8X/10% of each and every
claim. What is this about?
(@)  Average (b) excess (c)  Firstloss (d) Franchise
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Chief Examiner’s Comment

It is very disappointing that despite the fact that the questions were spread over
all the chapters of the text book, performance is abysmally poor at less than 20%
of the candidates that sat for the course.

Comments on Overall Performances:
Performance is poor overall.

Suggestion(s) on improvement (if any):

The current market practice in motor insurance where underwriting and rating
factors have been discarded may be responsible for the poor performance.
Students must however appreciate that insurance practice is global in nature.
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F06 - MOTOR INSURANCE PROCESS
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F07

CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
F07 - HOUSEHOLD INSURANCE PRODUCTS
APRIL 2022 DIET

All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’” INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION

F07 - HOUSEHOLD INSURANCE PRODUCTS

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A

The questions 1 - 50 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.

Example:

Which insurance principle does new for old overrule?
(@)  Average (b)  Contribution
(c)  Indemnity (d)  Subrogation

The answer is option (c).

Section B
Questions 51 - 60 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.

Example:
A household policy can be extended to cover motor insurance. (True or False).
The correct option is False (F).

Section C

Questions 61 - 75. This section contains three (3) case studies each followed by five
questions. The case studies are not numbered and appear at the top of the page.
Each of the five questions following a case study is numbered. Four options follow
each question. The options are labelled, a, b, ¢, d. Only one of these options is
correct or best. Select your answer for each question and indicate it on the answer
from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 50)

1.

The list of the types of insurance household packages available will not
include ...

(@)  buildings only (b)  money policy

(c)  combined policy (d)  contents only

Which of these will a specialist household policy be more appropriate
than a standard package policy?

(@)  Buildings only (b)  Buildings and contents
(c)  Combined policies (d)  Holiday homes

An insurance company that deals directly with the customer is referred to
as ...

(@)  captive insurer (b)  intermediary insurer

(c)  direct insurer (d)  reinsurer

A distribution channel that maximises the use of information technology
and deals with customers by telephone is called ...
(@)  broker (b)  E-commerce (c) call centre (d) EDI

Which of these is a facility that allows intermediaries to produce
proposals, cover notes and policies within their own offices.

(@)  broker (b)  E-commerce (c) callcentre (d) EDI
Household policies are classified as ...

(@)  single class policy (b)  double class policy

(c)  package policy (d)  comprehensive policy
Which of these is referred to as tenant’s polices?

(@)  Buildings only (b)  Contents only

(b)  Building and contents (d)  Comprehensive policy

... broadens the cover provided by a building or content only policy
including a range of optional extension.

(@)  Buildings and contents  (b)  Fire and special perils policy.
(c)  Bancassurance (d) A combined policy

An agent that sells the product of only an insurer is referred to as ...

(@)  specialist agent (b)  composite agent
() single-tied agent (d)  multi-tied agent
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10.

11.

12.

13.

14.

15.

16.

17.

Which of these has its root in Islamic Financial Principles?

(@)  Bancassurance (b)  Brand assurance
(c)  Takaful (d)  Aggregators
The selling of insurance products through a bank is referred to as ...
(@)  bancassurance (b)  brand assurance
() takaful (d)  aggregators

The regulator of the insurance industry in Nigeria is ...
(@)  Central Bank of Nigeria

(b)  National Pension Commission

(c)  Security Exchange Commission

(d)  National Insurance Commission

An agent that sells the products of two or more insurers is called ...

(@)  specialist agent (b)  composite agent
() single-tied agent (d)  multi-tied agent

Fraudulent claims will NOT take any of the following ways ...
(@)  inventing a loss that did not take place

(b)  exaggerating the size of a loss by the insured

(c)  claiming for a loss insured against by the insured

(d)  claiming for a loss deliberately caused by the insured
The cover provided by the building insurance can be divided into three (3)
sections which do not include ...

(@)  exceptional cover (b)  standard perils cover
(c)  additional items of cover (d)  optional extensions

The definition that refers to ‘dishonestly appropriating property
belonging to another with the intentions of permanently depriving the
other of it’” applies to ...

(@)  riot and civil commotion (b)  theft

(c)  fire (d)  subsidence

This occurs where ‘the ground rises after the moisture content of the soil
increases. For example, when tree have been cut down and the soil
absorbs the moisture as a result,’. This is referred to as ...

(@)  tempest (b)  landslip

(c)  ground heave (d)  subsidence
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18.

19.

20.

21.

22.

23.

24.

25.

The fixed glass and sanitary cover will not cover damages when the
property is unoccupied or unfurnished typically for more than ... days.
(@ 10 by 20 (c0 60 (d) 90

Household goods and personal possession belonging to the insured is
covered by ...

(@)  bending insurance (b)  motor insurance

(c)  content insurance (d) fidelity insurance

“The total value of valuable items is not to exceed one third of the
contents sum insured, unless specifically agreed. Some insurers apply a
percentage limit instead while some apply a fixed monetary limit”. This is
called ...

(@)  Single article limit (b)  valuable limit

() money limit (d)  package limit

The content insurance will cover ...
(@)  property more specifically insured

(b)  securities, certificates and documents

(c)  property held or used primarily for domestic purposes

(d)  loss or damage to contents in the office

Which of these is NOT covered by content insurance?

(@)  Standard perils cover (b)  Building cover

() Additional items of cover (d)  Optional extension

Which of these is not a public building as defined in Section 65 (Nigerian)
Insurance Act of 2003?

(@)  Tenement holder (b)  Building occupied by tenants

() Hostel (d)  None of the above

An item specifically stated as not covered in the policy is referred to as
a/an ... item

(@)  cover (b)  extended

() excluded (d)  additional item covered

The damage caused by pressure waves created by aircraft travelling at
supersonic speed is referred to as ...

(@)  radioactive contamination (b)  sonic bang

(c)  pollution (d)  terrorism
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26.

27.

28.

29.

30.

31.

32.

33.

In household insurance, “personal possession cover” was previously
known as ...

(@)  building section (b)  content section

(c)  “Allrisks’ section (d) liability section

Which of these would effectively be classified as personal effects?
(@)  Clothing (b)  Precious metals

(c)  Cameras (d)  Binoculars

Which of these properties is not usually excluded for cover in household

policy?
(@  Trade goods and equipment (b)  Motor vehicles
(c)  Livestock or pet (d)  Bedding or kitchen utensils

Credit cards as defined will NOT include ...
(@)  pre-loaded cash (b)  cheque
() cash (d)  debit cards

The legal expenses cover will cover ...

(@ employment matter

(b)  contractual and inheritance disputes

() motoring prosecution (d)  All of the above

Assistant services/ emergency helplines cover will not be extended to ...

(@)  Legal advice on any private legal problems

(b)  The cost of repairs

(c)  Assistance in the event of an emergency in contacting a reliable
repairer

(d)  Glazing service to replace broken glass in doors

Caravan insurance will NOT cover ...

(@)  storm damages to the trailer or tent

(b)  caravan within the country of policy issuance

() loss or damage to its contents (d)  legal liability

The specific exclusion in the caravan insurance policy will include all

except ...

(@)  damage to third party property

(b)  property more specifically insured

(c)  storm damage to itself, lent or awning

(d)  theft of content in the caravan not caused by forcible and violent
entry or exit
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34.

35.

36.

37.

38.

39.

40.

41.

Which of these is not covered in a travel insurance?

(@)  Personal accident benefits

(b)  Medical or associated benefits

(c)  Personal liability (d)  Household benefit

The amount which the insured will bear for each and every loss is referred
toas...

(@)  reinstatement (b)  average

() excess (d)  limit

... covers the failure of public transport to deliver the insured person to
the departure point, on either the outward or the return journey in time to
travel.

(@)  Delayed baggage (b)  Travel interruption

() Travel delay (d)  Hospital cash benefit

... covers the delay of the aircraft, ship or train on which the insured is
booked to travel for at least twelve hours, due to strike or industrial
action.

(@)  Delayed baggage (b)  Travel interruption

(c)  Travel delay (d)  Hospital cash benefit

The trade association of loss adjusters in Nigeria is ...
(@ NCRIB (b) ILAN (0 NAICOM (d) NIA

Which of these is an absolute exclusion on many policies and where cover
is provided, this is typically limited to emergency medical costs/ related
to an attack only?

(@)  Terrorism (b)  Pet care

(c)  Business travel (d)  Travel delay

What is the maximum period of cover under a single-trip travel insurance

policy?

(@ 17 days (b) 1 month

() 2 months (d) 4 months

What is the basis of cover used in respect of musical instruments?
(@)  Firstloss (b)  Market value

()  New for old (d)  Reinstatement
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42.

43.

44.

45.

46.

47.

The geographical limit for personal possession cover for a high-net-worth
Individual in Nigeria is normally?

(@  Within the home only (b)  Within Nigeria

(c)  Within ECOWAS countries (d)  Worldwide

Which principle emerged from the discussion of the case of Donoghue V.

Stevenson (1932)?

(@)  The actual causation principle

(b)  The means of enforcement principle

(c)  The neighbor principle

(d)  The reasonable man principle

Jonathan is walking his dog when the lead snaps and the dog runs into a

farmer’s field causing panic amongst the sheep. Several sheep are

drowned and the farmer is claiming compensation. Under the Animals

Act 1971, what is the position with regards to Jonathan’s liability? He will

(@)  beliable because the lead was very worn and he continued to use
it. This was a negligent act.

(b)  beliable, whether he was negligent or not, because strict liability
applies.

(c)  not be liable as the dog has never shown any inclination to act in
this way before.

(d)  not be liable as the incident happened as a result of an accident.

What published annual statistics must an insurer use to index-link the
buildings sum insured at renewal?

(@)  Government inflation rate (b)  House price increase
() House rebuilding cost index (d)  Retail price index

The sum insured for building insurance is normally calculated on ...
(@)  Current market value on the house

(b)  Purchase price of the house

(c)  Rebuilding cost of the house

(d)  Rentable value of the house

Among the general exclusions on the household policy, damage is
excluded when caused by ...

(@)  lightening strike (b)  aterrorist explosion
(c)  oil leakage from an oil-fired central heating system

(d)  water from an overflowing cold water tank
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48.

49.

50.

A householder submits a claim under the frozen food extension. The

insurer will decline the claim if the loss is caused by ...

(@)  an electricity power cut to the property during a windstorm

(b)  apreviously notified electricity power cut to property by the
supplier

(c)  arat chewing through the freezer’s electricity cable and disrupting
the electricity supply

(d)  the householder accidentally switching off the supply to the freezer

A contents insurance policy that covers loss of money will exclude the
theft of ...

(@) anemployer’s credit card

(b)  current postage stamps

(c)  luncheon vouchers (d)  travellers’ cheque

You are asked to provide contents cover for one occupant in shared
accommodation. What restriction would you normally impose?

(@@  Alarm warranty

(b)  Forcible violent entry or exit clause

(c)  Indemnity condition (d)  unoccupancy warranty.

SECTION B - ATTEMPT ALL QUESTIONS (Questions from 51 to 60)
Answer True (T) or False (F)

51.

52.

53.

54.

55.

56.

57.

In order to retain the relationship with the customer, it is important that
the insurer acts proactively in inviting the customer to renew their policy.

The age of the phone is NOT an underwriting factor in providing cover to
the phone.

The ------ of proof for a loss falls on the insurer.
Implied duties are duties imposed by common law.
Example of express duties are specific claims conditions

If a property is unoccupied for more than 60 days, the perils of theft,
malicious damage, escape of oil or water are not covered.

Following settlement of a claim any savage becomes the property of the
insured.
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58.  Contribution arises where the risk is covered by an insurer.

59.  Subrogation is the right of two insurers to provide indemnity for a loss to
the insured.

60.  Arbitration applies where insurers have accepted the claim but there is a
dispute between the insured and insurer.

SECTION C - ATTEMPT ALL QUESTIONS (Questions 61 - 75)
Read the cases below carefully and answer the questions which follow.

John Oyo is the Managing Director of one of the biggest banks in Nigeria. He has
exotic cars and a mansion. He also has a holiday home in Yankari in Bauchi State
and another in Serekurola in Gambia.

61.  Which of the policies will you recommend for his Lagos home?
(@)  Building Insurance (b)  High Net Worth Insurance
() Home Business Insurance (d)  Holiday Homes Insurance
62.  The policy to cover John’s home in Yankari is the ...
(@@  High Net Worth Home (b)  Holiday Homes Oversees

(c)  Holiday Homes in Country of Residence
(d)  Home-Business policy

63.  The Gambia house will be covered by ...
(@@  High Net Worth Home (b)  Holiday Homes Oversees
(c)  Holiday Homes in Country of Residence
(d)  Home-Business policy

64.  In asituation where John Oyo has a block of flat that was rented out. Who
will be responsible for its insurance?
(@ John Oyo (b)  The tenants
(c)  John Oyo and the tenants (d) Agent

65.  Supposing John Oyo works from home and wants a policy that will only
cover the business risk, which of these policies will be more appropriate
for him?

(@)  Landlord’s policies (b)  Shared and rented homes
() Home-business policy
(d)  Stand-alone business policy
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Mrs. Rita Musa is a farmer who had a tank where she collects water for her
farming. On a fateful day, she collected water and forgot to switch it off the tank
before going. The tank collected so much water that it subsequently overflooded
the farm and caused further damage to her neighbour’s property.

66.

67.

68.

69.

70.

Which case will Mrs. Musa’s neighbour rely on to make claim against her

for the damage?
(@@  Donoghue v. Stevenson (1932)  (b)

() Pitcher v. Martin (1937) (d)
The type of policy to cover such loss is ...

(@)  Public liability (b)
(c)  Employers’ liability (d)
The principle involved in the case is that of ...
(@  Duty of care (b)
(c)  Common liability (d)

Rylands v. Fletcher (1868)
Sturge v. Hacket (1962)

Product liability
Professional indemnity

Who is your neighbour?
Strict liability

Supposing the loss has to do with the consumption of a product, which of

the cases would have applied?
(@@  Donoghue v. Stevenson (1932)  (b)

() Pitcher v. Martin (1937) (d)
The cover under (69) is ...

(@)  Public liability (b)
() Employers’ liability (d)
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Nkechi Nwankwu runs her personal business of making and selling cakes from
home. She also has some office equipment like computers and stationery for
running the business. Her household policy covers the business. Her household
policy covers the business equipment to a limit of %2,000,000.00 and stock for
N1,000,000.00. She is an animal lover and has an animal as a pet which she
insured. Recently, she had a loss following the fall of a paint can on her ring
which damaged the :50,000.00 rug. There is an excess for any one loss of
20,000.00.

71.  What is the best policy for a person working from home?
(@@  Home-business policy

b)  Household insurance

c

(
(c)  Shared and rented homes insurance
(d)  High Net Worth Households

72.  Nkechi made a claim of §3,000,000.00 for the damage office equipment in
her home. What is the maximum liability of the insurer for the loss?

(@  N1,000,000.00 (b)  &2,000,000.00
(c)  23,000,000.00 (d)  N5,000,000.00

73.  What is the maximum liability of the insurer for the insured stock?
(@)  1,000,000.00 (b)  &2,000,000.00
(c)  23,000,000.00 (d)  4,000,000.00

74.  What policy will she buy to cover the cat?
(@@  VetInsurance (b)  Household Insurance
() Livestock Insurance (d)  PetInsurance

75.  How much will the insurer pay for the damaged rug?
(@)  20,000.00 (b)  30,000.00
() N50,000,00 (d) Nil
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Chief Examiner’s Comment

Very few candidates sat for the examination. The performance of those who wrote
the paper is above average with a pass rate of 66.67%. This is not a good
performance for a subject at this level.

Comments on Overall Performance
The overall performance was average.

Suggestions on improvement (if any):
Candidates should be advised to read their coursebooks very well.
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F08

CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION
F08 - HEALTHCARE INSURANCE PRODUCTS
APRIL 2022 DIET

All answers should be shaded on the answer form in accordance with
the following instructions:

Two hours are allowed for this paper.

Fill in the information requested on the answer form and
attendance form.

Handle the answer form with care and do not write notes on it.
No marks are deducted for incorrect answers, so do not leave any
questions unanswered.

The answer form should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit
and any other particulars required on the answer form.

Ensure that you write the full and correct candidate’s number.

If you bring a calculator into the examination room, it must be
silent battery or solar powered non-programmable calculator. The
use of programmable calculator is prohibited.

No name should be written on the answer form.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND
VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN

THE APRIL 2022 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA

FOUNDATION

F08 - HEALTHCARE INSURANCE PRODUCTS

INSTRUCTIONS TO CANDIDATES

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS

Section A

The questions 1 - 60 in this paper are numbered and four options follow each
question. The options are labeled a,b,c,d. Only one of these options is correct.
Select your answer for each question and indicate it on the answer form by filling
in the appropriate box.

Example:

A private healthcare provider that reinvests any profit made on better health and
care services is known as a:

(@)  friendly society (b)  mutual society
(c)  proprietary insurer (d)  provident insurer
The answer is option (d)

Section B
Questions 61 - 85 are to be answered as either True (T) or False (F). Select your
chosen option and indicate it on the answer form by filling in the appropriate box.

Example:
A medical insurance cover will not pay for hospitalisation. (True or False).
The correct option is False (F).

Section C

Questions 86 - 100. This section contains three (3) case studies each followed by
five questions. The case studies are not numbered and appear at the top of the
page. Each of the five questions following a case study is numbered. Four options
follow each question. The options are labelled, a, b, ¢, d. Only one of these options
is correct or best. Select your answer for each question and indicate it on the
answer from by filling in the appropriate box.
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 - 60)

1.

Which of these is not a type of discount people applying for a PMI policy
will receive?

(@)  No Claim Discount (b)  Affinity Discount
(c)  Payment Discount (d)  Earned Discount

Which of these is not true of a capitation plan?

(@)  The plan is usually sold to the customer by dentists

(b)  Fees are paid by the customers to the provider

(c)  The Scheme may also include insurance against accidents, injuries
and mouth cancer

(d)  The scheme pays for critical health illnesses

The supervisory agency of health insurance in Nigeria is?
(@@ HMO (b)  Hospitals
(c)  Ministry of Health (d) NHIS

The NHS was established in?
(a) 1960 (b) 1938 (c) 1948 (d) 1920

Before the establishment of NHS in the UK, the poor rely on all except?

(@)  Healthcare provided by the Government.

(b)  Traditional health remedies

(c)  Healthcare provided by charity organisations

(d)  Healthcare provided by religious organisations

At the outset of the NHS introduced the context of healthcare that was

free at the point of use for every citizen. This does not mean?

(@)  Hospitals were not compulsory purchased by the State

(b)  Hospital doctors were employed by the NHS, although they could
also continue to practice privately

() General practitioners continued to be self-employed but had a
contract with the NHS and were paid per patient

(d)  All health treatment would be provided free at point of use

What options does a firm employing 30,000 people have if it wants them

all to benefit from private healthcare treatment for acute conditions,

funded by the company? The company could ...

(@  Not to take out a group private medical insurance scheme and pay
premiums to an insurance company

(b)  Pay for the cost of treatment as it arises, administering it scheme
itself

(c)  Itcould use a third party administrator (TPA) to do that for it
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10.

11.

12.

13.

14.

(d) Commence a health trust, again using a TPA.

How has the NHS tended to balance demand and resources for acute
hospital care?

(@) By paying the bill

(b) By allowing waiting lists to build up.

(c) By not allowing waiting lists to build up

(d) By disallowing waiting lists to build up

Private medical insurance policies also include the cost of ...
(@) long term disability

(b)  maternal pregnancy and childbirth

(c)  chronic illness such as asthma and diabetes

(d)  treatment of malaria fever

The major advantage gained by people for procuring private medical
treatment does not include?

(@)  Choice of consultant, who will perform the operations

(b)  Choice of hospitals

(c) A private room with more pleasant families

(d)  More time waiting for operations on more urgent conditions e.g.
varicose, veins, hip replacements, etc.

17. Which of these is not part of the private medical insurance market?

(@)  State-paid (b) Individual (or personal) paid

() Company paid (d) Affinity or voluntary employee paid

... is non-essential surgery that will change a person’s appearance.

(a) Emergencies (b) “Complementary’ or “alternative’ medicine

(c) Cosmetic surgery (d) Intensive care

Which of these is not a provident association?

(@  Non-profit making organisations for the provision of medical
insurance

(b)  Any losses from their activities cannot attract tax relief

(c)  They have shareholders

(d)  All their operating surplus are counted as part of their reserves and
are not subject to corporations’ tax.

Which came first?

(@) NHS (b)  Public Medical Insurance
() Both came together (d)  Private Medical Insurance
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Which of these serves as “insurers” in providing health insurance in
Nigeria?
(@  NSITF (b)  NHIS (c)  Government (d) HMOs

Which of these serves as provider of Workman Compensation Insurance
in Nigeria?

(@@  NSITF (b) NHIS

() Insurance companies (d) HMOs

Commercial insurers have one of the following characteristics.

(@@  Payno dividend (b)  Have shareholders
(c)  Non-profit-making organization for the provision of medical
insurance (d)  None of the above

... is an alternative way for employers to deliver private healthcare for

employees.
(@)  Provident Insurers (b)  Health Cash Plan
(c)  Commercial Insurers (d)  Health Trust

The law regulating health insurance in Nigeria is?

(@  Insurance Act 1997 (b)  Insurance Act 2003
() National health Insurance Scheme Act 1999

(d)  National Insurance Commission Act 1997

... trace their ancestry as a movement back to Late Victoria Times.
(@)  Health trust (b)  Health cash plans
() Third party administration (d)  Commercial insurers

Health funds are ... the benefits of their members.
(@)  Mutual organisations (b)  Third party administration
(c)  National Health Insurance Scheme  (d) Commercial insurers

In addition to insurance, the small but significant proportion of private
medical schemes being run on behalf of employers for their employees is
called?

(@  Third Party Administrator (b)  Commercial insurers

()  NHIS (d)  Mutual organisations
Which of these is not party of the strengths of both TPAs and consultants?
(@)  Motivation (b)  Independence

(c)  Information (d)  Mutual
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24.

25.

26.

27.

28.

29.

... is an alternative way for employers to deliver private health care for

employees.

(@)  Health trusts (b)  Health and Dental care plan
(c)  Commercial insurers (d) NHIS

One of these is not part of the medical insurance market?

(@)  Brokers-paid (b)  Company-paid
(c)  Voluntary employee-paid groups (d)  Individual-paid

At the outset, the NHS introduced the concept of healthcare that was free
at the point of use for every citizen. This means all except ...

(a) almost all hospitals were compulsorily purchased by the state

(b) hospital doctors were employed by the NHS, although they could also
continue to practice privately

(c) all health treatments would be provided free at the point of use

(d) the service would be funded by payment for treatment by the patients

When the employer divides to pay for healthcare treatment for their
employer as these costs arise, rather than having insurance. This
arrangement is called?

(@)  Self-insurance (b)  Co-insurance
(c)  Multiple insurance (d)  Non-insurance

The major client bane of independent intermediaries in the distributive of
healthcare products are?

(@)  Middle-class group (b)  Low income earners
() High income earning (d)  Grassroot

Which of these is a disadvantage to the healthcare insurers of the direct

sales approach?

30.

(@)  Getting reactions direct from customers about their needs

(b)  Maintain better control over the sales process with the customers

() Customer only receives information on one insurer’s healthcare
insurance products

(d)  Presenting a service that can be distinguished from that of
competitors

One of these is not a direct distributor channels healthcare insurers?

(@@  Having mobile sales consultants

(b)  Using financial intermediaries

() Using the mail to send potential customers information and write
them to return a form or buy over the phone or interfere
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31.

32.

33.

34.

35.

36.

37.

(d) Television, radio, newspaper, SMS text, advertisement to encourage
potential customer to fund out more about the products

Individuals who earn more than N5,000,000.00 in taxable income are liable
to pay income tax on the company-paid premiums as they are treated as a
... for tax purposes.

(@)  benefit-in-kind (b)  revenue

() gift (d)  income

Why is a PMI insurer unlikely to cover cosmetic surgery?

(@  Cosmetic surgery is elective (b)  Cosmetic surgery is cheap
(c)  Cosmetic surgery is specifically cover under NHS

(d)  Cosmetic surgery is covered by other policies

Which of these is not costs involved in selling PMI through

intermediaries?

(@)  Paying for accommodation

(b)  Paying commission to the intermediary

(c)  Marketing costs associated with encouraging brokers to sell the
products

(d)  Having a sales infrastructure to erect the service needs of
intermediaries and to encourage them to sell the company policies

... created the first of the budget healthcare insurance product in 1979.
(a) AXA PPP (by PMI (0 GRE (d) BUPA

... had at its inception a six well feature whereby benefit was only paid to
the NHS waiting list was six weeks more.

(@)  Five weeks (b)  Six weeks

() Ten weeks (d)  One week

Which of these is not a main advantage gained by people buying private
medical treatment?

(@)  Choice of hospitals (b)  Choice pf admission dates
() Less time waiting for operations on non-urgent

(d)  Non-choice of consultant

What are three conditions or procedures which would not routinely be
covered by healthcare insurance?

(@  Typhoid fever (b)  Cosmetic surgery
() Complementary or alternative therapies

(d)  Long-liability liability
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38.

39.

40.

41.

42.

43.

44.

45.

Which type of healthcare insurance policies is subject to IPT?

(@) NHIS

(b)  Individual and group healthcare insurance

(c)  Trustinsurance (d)  Cosmetic insurance

What is the current of IPT of healthcare insurance in the UK?
(a) 10% (b) 2% () 5% (d) 10%

What is the main purpose of setting up a health trust?

(@)  Health trusts enable employers to provide healthcare insurance
cover to their employees without marring IPT except on any stops
cover

(b)  Health trusts provide free medical care for all citizens

() Health trusts are alternative to NHIS

(d)  None of above

What role does insurer paly in a health trust policy?
(@)  The insurer provides cover for the scheme
(b)  The insurer pays all medical expenses

(c)  The insurer provides only stop does insurance

(d)  The insurer provides underwriting only

Which of these is a disadvantage of the direct sales in healthcare
insurance?

(@  Need for advertising

(b) A source of customer feedback
(c)  Often brand identification

(d)  Perceived as being easier to control

Independent intermediaries account for ... of all healthcare insurance
sales to employers?

(@ 10% (b)  50% (0  70% (d)  100%

A high proportion of people in France have some form of private health
insurance. What form does this take?

(@)  Dental care plan (b)  Top-up insurance
(c)  Healthcare trust (d) NHIS

In Germany, private health insurance is mainly for all except ...

(@)  civil servants (b)  the self-employed

() Employees who income is above the earning ceiling for
contributions assessment

(d)  the low income earners
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46.

47.

48.

49.

50.

51.

52.

Which of these is not among the top three health spending countries in the
DEED (based on percentage of GDP spend on healthcare)?
(@)  France (b) USA
(c)  Switzerland (d)  Germany

In which of these ways is the UK’s healthcare systems not compare with
those of other countries.

(@  Number of claims centres (b)  Infant mortality
(b)  Improvement of longevity in recent years

(d)  How long people live on average

An international medical insurance policy may not cover ...

(@)  all expenses for in-patient, day-patient and out-patient treatments
(b)  surgeons’, anesthetists” and physicians’ fees

() drugs and dressing (d)  None of the above

Which of these is not an additional benefit covered by international
healthcare insurance for UK expatriates.

(@)  Treatment costs for chrome conditions

(b)  Pre-existing conditions

() Ambulance cost (d)  GP costs

The most common category of international healthcare insurance for UK
expatriates does not include?

(@  Europe only

(b)  Rest of the world (excluding North America)

(c)  Rest of the world (all countries) (d) UKonly
Which of these is not used in rating travel insurance?

(@) Age (b)  The countries to be visited
(c)  Premium

(d)  Whether any additional risks are to be covered.

Some UK national medical insurance scheme also cover treatment abroad

in certain circumstances. There may not include?

(@  Where the insurer has an arrangement with a hospital group in
particular countries

(b)  Where treatment abroad is no more expensive than it would be in
the UK

(0 Emergency treatment while abroad working on holiday

(d)  None of the above.
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53.

54.

55.

56.

57.

58.

59.

60.

Radiology has to do with?

(@)  Consultations (b)  Blood and urine test
(c)  X-rays/ body scans (d)  None of the above
Pathology has to do with?

(@  X-rays/ body scans (b)  Consultations

() Blood and urine tests (d)  None of the above

Which of the following surgical procedures will cost the insurer more to
refund the medical expenses.

(@  Major plus (b)  Major

(c) Intermediate (d)  Minor

Comprehensive policies will not include which of these as standard
benefits?

(@)  Treatment for metal and addictive illness

(b)  Overseas cover, including the cost of separation in an emergency
(c)  Alternative or complimentary medication

(d)  None of the above

... allows individuals to buy some protection against the cost of private
treatment whilst keeping premiums to a minimum?

(@)  Budget policies (b)  Standard policies

(b)  Comprehensive policies (d)  International policies

... are generally schemes for 50 or more members.
(@  Small group schemes (b)  Large group schemes
() Voluntary schemes (d)  International schemes

An EAP provides employees with access to a confidential counselling
service covering a range of issue that does include?

(@)  Payment of premium for them (b) Legal advice

(c)  Family and domestic difficulties

(d)  Debt and financial worries

Which of these is not part of independent intermediaries?

(@)  Brokers (b)  Other Intermediaries
(0  Employee Benefits Consultants (d)  Healthcare Providers
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SECTION B - ATTEMPT ALL QUESTIONS (Questions from 61 to 85)
Answer True (T) or False (F).

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

Excesses are offered to customers on healthcare insurance policies in
return for a lower premium.

Major medical cover out-patient treatment or initial (out-patient)
consultants.

Insurers commonly band the hospital accommodation to which their
customers may have access not according to the cost of the services and
the treatment provided.

Few PMI policies cover private consultations with a GP or the cost
medical services that are used in the treatment of pre-existing conditions.

Special regulation permit insurers to treat the disabled less favourably
than other people.

The only main distribution methods for insurers offering healthcare
insurance is through direct sales.

Group PMI schemes as with individual plans, only cover acute, non-
emergency medical concoctions.

Income protection insurance provides for a replacement of monthly
income if the insured is unable to work as a result of unemployment?

The original concept of healthcare that was free at the point of use had not
already been modified.

Long term income protection insurance is also known as long term
disability insurance or permanent health insurance. The purpose of this
policy is to provide compensations for terminal ailment?

Critical illness insurance is not meant to be a stand-alone policy.

Telephone help home is not seen as an added value benefit. Is this
statement correct?

A passive telephone will provide information on a meme basis. A

particular member is provided that gives access to a pre-recorded tape
about heart disease or diabetes?
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74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

Health screening is synonymous to health check-up?

Moratorium underwriting is not one of the advantages to the applicant
who prepare for the healthcare insurance policies?

Pre-existing conditions does not have any hearing in underwriting of
individual proposal for healthcare insurance?

A medical insurance premium is determined by reference to capital and
solvency costs?

Networks are where an insurer selects specific facilities, consultants
and/or medical, protocols to form a network to carry out particularly

forms of treatment or diagnostics?

PMI insurers wouldn’t have to employ medical professional to develop
clinical guidelines sometimes known as protocols or care pathways?

PMI insurers and consultants does generally prefer day case surgery
where feasible, thus avoiding expensive over-night stays and minimizing
post-operative infections risks?

Postcode is not one rating guide for medical insurance in Nigeria?

PMI insurer never use direct settlement bills for those who provide
medical treatment and services. Do you agree with the statement?

Claim forms do not convey all the information required by the insurer to
settle the claims of their customers?

The provision of no premium no cover only stipulate that insured only
needs to make commitment to pay full premium in a future date?

Chartered Insurance Institute of Nigeria is the first professional bodily in
Nigeria?
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SECTION C - ATTEMPT ALL QUESTIONS (Questions 86 - 100)
Read the cases below carefully and answer the questions which follow.

Mr. & Mrs. Japter Nwankwo propose for healthcare insurance policy for their
family. The couple got married 10 years ago and Mrs. Nwankwo have had a
caesarean operation twice. The first operation took place about seven years ago
and the second surgery was done about four years ago. The couple is expecting
the third child and they decided to move their covers from existing HMO
believing they are paying higher premium.

86.  Underwriting is all about ... for every proposal initiated by their
customer.
(@)  assessment (b)  analyzing (c)  investigation
(d)  diagnosing an applicant’s medical condition

87.  From the above Mr. & Mrs. Nwankwo's story in underwriting, Mrs.
Nwankwo is considered as a ...
(@)  moral hazard (b)  physical hazard
(c)  higher risk (d)  lowrisk

88. From the above narration, insurer will always look at each case

doggerrently. Would the underwriter consider the care of Mr. & Mrs.
Nwankwo as ...?

(@)  same degree of risk (b)  varying degree of risk
() severity (d)  frequency & risk

89.  What options do you think the underwriter will consider over the high
risk Mrs. Nwankwo represented?
(@)  Loading the premium (b)  Declare the premium
(c)  Postpone the cover until she recovers (d)  Accept the cover

90.  In Risk Management, how would you have compared Mrs. Nwankwo
with her hubby?
(@)  Severity (b)  Frequency
(c)  Frequency and severity (d)  None of the above
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Mr. Babajide Alao was employed as a manager in an establishment. He was sent
out of his station to manage another branch of the organisation. Mr. Alao had an
accident in course of doing his assignment. Mr. Alao was required to undergo
surgery due to his accident but his office arrangement for healthcare cover with

HMO does not cover surgery. Though the office has Workmen compensation
with NISTF.

91.

92.

93.

94.

95.

From the above narration, what do you think Mr. Alao should do?

(@)  File a suit against his employer

(b)  HR to force the HMO to pay for the surgery

(c)  HP to inform the NISTF to make a claim from the workmen
compensation scheme

(d)  None of the above.

How will you term the liability of the employer to Mr. Alao as ...
(@)  strict liability (b)  vicarious liability
() absolute liability (d)  al of the above

From the above scenario would the Workmen Compensation Scheme
compensate

(@  The employer only

(b)  Both employee and employer

(c)  Hospital that provided Mr. Alao treatment

(d) The HMO

Supposing Mr. Alao had lost his leg, to whom the Workmen
Compensation Scheme would have compensate a different from the cost
of the surgery and treatment than were paid earlier?

(@@  Compensations will be paid to employer

(b)  Compensation will be paid to employees

(c)  Compensations will be paid to Mr. Alao’s estate

(d)  All of the above

If Mr. Alao had died while in course of his employment to whom the
death benefit would have been paid to?

(@  The employee’s estate (b)  The employer
(c)  Charity organisations (d)  All of above
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Mr. Ajanaku enrolled himself, his wife and four children with ABC HMO. His
eldest son named Ajakunna had already entered university who is currently in
200 level. He became sick and was rushed to the hospital by some of his
roommates. He spent three nights at the hospital for treatment and after his full
recovery, the hospital gave Ajakunna bill before he was discharged. He told the
hospital accountant that his family have a cover purchased from ABC HMO.

9.

97.

98.

99.

100.

To initiate a claim from the HMO what must be done for the HMO to
settle the bill?

(@)  Eligibility checks (b)  Completion of claim form
(c)  Payment of determination (d)  Use of code

What would the HMO assess from the claim against the insured’s
previous claims history to determine?

(@)  Date of treatment (b)  Location of the hospital
() Annual maximum benefits (d)  All of the above

After the validity of the claim has been accepted by the HMO, what is

necessary to determine?

(@)  Was the treatment received in a recognised establishment and from
a recognised specialist

(b)  The amount of the payment to be made, and to whom it should be
made

(c)  Isthe patient covered by the prolong

(d)  All of the above

How many sufficient information must the claim form contain?
(@ 10 b)) 8 (o 6 (d 5

Ajakunna spent three nights at the hospital while receiving treatment, the
access of accommodation is called ...

(@)  hospital category (b)  hospital based

(c)  hospital rating (d)  none of the above
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Chief Examiner’s Comment

From the data of the candidates that wrote this April diet examination,
performance was not good. It was obvious that the candidates may have used the
old coursebook, and as a result, not familiar with changes in the domesticated
coursebook where new topics like NSITF, NHIS and HMO were introduced. The
candidates’ performance this diet is too low compared with previous years. The
percentages of pass rate is 17% from 12 candidates that sat for the examination. It
is possible the candidates have not gotten the new coursebook, because old one is
no longer valid for this course. Secondly, it is lack of adequate preparation for the
examination.

Comments on Overall Performance:
As suggested above, candidates should get the course book and get familiar with
practice of health care system in Nigeria.

Suggestion(s) on improvement (if any):

The Institute should make awareness campaign in our periodic newsletter to get
our candidates aware of changes in the courses we offered.

Page 121 of 122



FO8 - HEALTHCARE INSURANCE PRODUCTS

100 | Bonus

i = <O <€ <00 <€ <<|OmU
AN H IO IOINDOD NSO =N <HLO O DN
D DO DO DO SNV SNV SN ONON O
= | | | | | B R | B | e | | | | | R | B | |
AN FH L OIINDDNO =N FHL O INDIOHCO
OO (O OO (OO O IINIDNIDNDNNDDNDDNDDNIDNDNDNOD
U< mA<nAOAIVALIL LA <A
AN FH L OINNDNO =N FHL O INDIOO
| H H H H H H T HLO OO |LO|LO OO OO LD | O
| <A< <A< Un|d< << nA <Ol
AN H L OINNDNO =N FHL O INDIOO
NN AN]SR enen|eheh|ch|en | eh|on|F
< AQL K<< nAAQ<OLAAAUmM

Ol=-ANNH HILO IO IN®IS O
AN D <H O |ODN|O0 O v | v | v | v | v | ] | ] | | | el | O]

Page 122 of 122



